NAIR Asst Mech Engg AME Asst Workshop Mngr AWM

Topic:- AWM_PA_NAIRJUNE23

1)

Where the Ruling gradient of the division is mentioned in the following?

(1) Working Time Table of that division
(2) Station Working Rule

(3) General & Subsidiary Rule

(4) Trains at a glance

AvsH # e Af0e F 3o Frafaf@a & w3 Aaarg 2
(1) 3" AUSH & aAfehaT CISH cael
(2) T2 afdheT T
(3) FeIeeT & ool &
(4) T AT H ¢

[Question ID = 333][Question Description = Q01_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1329]
2. (2) [Option ID = 1331]
3. (3) [Option ID = 1333]
4. (4) [Option ID = 1335]

Correct Answer :-
e (1) [Option ID = 1329]



2)

In case of any accident, Medical relief van shall be dispatched within
what time from double exit siding?

(1) 10 Minute
(2) 15 Minute
(3) 25 Minute
(4) 20 Minute

feralt off gErean 1 el #, AfRee R® 39 i saa e afEa a
e &7 & #fiax e e anfee?

(1) 10 A=ie

(2) 15 @=ie

(3) 25 TA=TE

(4) 20 A=E

[Question ID = 336][Question Description = Q02_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1337]
2. (2) [Option ID = 1340]
3. (3) [Option ID = 1341]
4. (4) [Option ID = 1343]

Correct Answer :-
e (4) [Option ID = 1343]



3)

What is the full form of SPART?

(1) Self promoted account review team
(2) Self propelled accident relief train

(3) Self propelled accident rescue train
(4) Specially powered accident relief train

SPART &1 el BIH 4T &1l £7
(1) o WAES 3e Riag fea
(2) % ez TFdse Neld oo
(3) et HI9es TEFHIST &R T
(4) TITETIT urgs vdtEe Reh® o

[Question ID = 337][Question Description = Q03_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1345]
2. (2) [Option ID = 1347]
3. (3) [Option ID = 1349]
4. (4) [Option ID = 1352]

Correct Answer :-
® (2) [Option ID = 1347]

Commissioner of Railway Safety comes under which ministry?

(1) Railway's
(2) Civil Aviation
(3) Finance

(4) Defence

YT TET 3 FoFE AT & 3HA9Td 31T 82
(1) T
(2) AT 33394
(3) o=
(4) &

[Question ID = 339][Question Description = Q04_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1353]



2. (2) [Option ID = 1355]
3. (3) [Option ID = 1357]
4. (4) [Option ID = 1359]

Correct Answer :-
® (2) [Option ID = 1355]

At what interval, ‘D3" Maintenance Schedule of LHB Coach is done?

(1) 150 days £ 7days
(2) 120 days £ 7days
(3) 180 days £ 15 days
(4) 90 days + 7days

TSITEE] i Al 'S13' HEAE AT Toheiel 3arel O femam STram 872
(M150 a7+ 7 &=
(2)120 T + 7 &=
(3)180 ea £ 15 e
(40T 27 Ra

[Question ID = 342][Question Description = Q05_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1362]
2. (2) [Option ID = 1363]
3. (3) [Option ID = 1365]
4. (4) [Option ID = 1367]

Correct Answer :-
® (3) [Option ID = 1365]



6)

For cancellation of ART/ARME, what will be the siren code?

(1) Two long siren of 45 seconds
(2) Three long siren of 45 seconds
(3) Four long siren of 90 seconds
(4) One long siren of 90 seconds

ART/ARME & T &= & [T TIaT= 13 471 81?2
(1) 45 Hehs & &l oI TrE
(2) 45 TS & I oid T
(3) 90 H&HS F TR o Il
(4) 90 TS T Tah ofal Il

[Question ID = 343][Question Description = Q06_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1369]
2. (2) [Option ID = 1371]
3. (3) [Option ID = 1373]
4. (4) [Option ID = 1375]

Correct Answer :-

e (4) [Option ID = 1375]

What is the maximum speed of trains in kmph during thick & foggy
weather in absolute block system?

(1) 30 kmph
(2) 50 kmph
(3) 60 kmph
(4) None of the above

quT Eoileh FAEEH # O AT Yerer AtEa & e &t 1 arflehas 7ty
o= graT 872

(1) 30 feradt ufa ger

(2) 50 ferdt wig ger

(3) 60 TeralT ufa ger

(4) 39UFT H T HIZ g0



[Question ID = 345][Question Description = Q07_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1377]
2. (2) [Option ID = 1379]
3. (3) [Option ID = 1381]
4. (4) [Option ID = 1384]

Correct Answer :-
® (4) [Option ID = 1384]

How many numbers of brake cylinders are provided in one LHB coach?

(1) 08
(2) 16
(3) 18
(4) None of the above

U Uquadl ®id H o Ricie’] & 9@ fea gl 872
1) 08

Ezg 16

(3) 18

(4) SRiad H Y BI5 Aol

[Question ID = 348][Question Description = Q08_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1386]
2. (2) [Option ID = 1387]
3. (3) [Option ID = 1389]
4. (4) [Option ID = 1391]

Correct Answer :-
e (1) [Option ID = 1386]



9)

If the Driver reduced the BP pressure by 1.2 Kg/cm?, this type of Brake
application is called?

(1) Full Service application
(2) Service application
(3) Emergency application
(4) None of the above

Ife SrEaT T BP Mo &1 1.2 Kg/cm? & T [6aT, 3 38 988 & 86
VColTeh el &l FEd 87

(1) oot BidE Teciiehera

(2) BTGH TCelTehereT

(3) SHSHT TooiIERerT

(4) 39RFT H G FIS 8T

[Question ID = 350][Question Description = Q09_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1394]
2. (2) [Option ID = 1396]
3. (3) [Option ID = 1398]
4. (4) [Option ID = 1400]

Correct Answer :-

o (4) [Option ID = 1400]

In ICF coach, what is the maximum standard buffer height above ralil
level to the center of buffer?

(1) 1085 mm
(2) 1100 mm
(3) 1105 mm
(4) 1030 mm

ICF & &, {7 T U 99X o ohg o ATUhdH HiTsd a0 AT [ohaall
BT 87

(1) 1085 A=Y

(2) 1100 FA#T

(3) 1105 fA#T

(4) 1030 &Y



[Question ID = 351][Question Description = Q10_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1401]
2. (2) [Option ID = 1403]
3. (3) [Option ID = 1405]
4. (4) [Option ID = 1407]

Correct Answer :-
® (3) [Option ID = 1405]

When Control rod of SAB rotated for one round, control rod head moves
by what distance?

(1) 6.00 mm
(2) 4.00 mm
(3) 2.00 mm
(4) None of the above

S SAB T Seiel US &l Teh Tt H TATAT AT &, A el s 83 et
&l % TAdT 87

(1) 6.00 fA=T

(2) 4.00 TAHT

(3) 2.00 A=Y

(4) U H ¥ HIS 6T

[Question ID = 354][Question Description = Q11_AWM_PA_NAIRJUNE23]
(1) [Option ID = 1410]
. (2) [Option ID = 1412]
. (3) [Option ID = 1414]
. (4) [Option ID = 1415]

A wN =

Correct Answer :-
e (3) [Option ID = 1414]



12)

What aspect is indicated by Indicator plate of Empty Load Box (ELB)
device of a wagon?

(1) Yellow empty, black loaded
(2) Blue empty, black loaded

(3) White empty, black loaded
(4) black empty, yellow loaded

T 9977 o UET oIl a1y f2a1sd (ELB) &7 S{2he toie &7 38 ! &
(1) YIS TTeIT, ST & §31T
(2) FTeI WS, SHTAT 3RT FHT
(3) The, W, FHell I F3T
(4) ST WTeAT, eI 31T §31T

[Question ID = 355][Question Description = Q12_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1417]
2. (2) [Option ID = 1419]
3. (3) [Option ID = 1421]
4. (4) [Option ID = 1423]

Correct Answer :-
e (1) [Option ID = 1417]

While isolating Distributor Valve of ICF coach, what will be the position of
the isolating handle?

(1) Horizontal

(2) vertical

(3) In between Horizontal and Vertical
(4) None of the above

HISHIUE T & FFIYLT dfcd Hi HIFHIGT e T HTSHCICT 25l i
feufa ffw wer 1T anfee?

(1) &fa=

(2) sEad

O GIEEE G EEGE R R

(4) 39FT H Y FIS &1



[Question ID = 357][Question Description = Q13_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1425]
2. (2) [Option ID = 1427]
3. (3) [Option ID = 1429]
4. (4) [Option ID = 1431]

Correct Answer :-
e (1) [Option ID = 1425]

During sensitivity test What is to be the rate of drop of air pressure in
Brake Pipe in a properly working air brake system of a coach, so that
Brake should apply?

(1) 0.3 kg/ cm? in 60 sec
(2) 0.3 kg/ cm? in 30 sec
(3) 0.5 kg/ cm?in 5 sec
(4) 0.6 kg/ cm?in 6 sec

gfafefad e & el U oI & 8l H S T 18 T oeh [UeeH H 6
UTSY 4T & a1d o [ Sl &3 4T @Il IIET, ATfeh st ofdT SATT?

(1) 60 Tz F 0.3 Farm / AR

(2) 30 T H 0.3 TR/ TR

(3) 5 TS # 0.5 foparm / a2

(4) 6 s H 0.6 fomam / T#2

[Question ID = 360][Question Description = Q14_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1433]
2. (2) [Option ID = 1436]
3. (3) [Option ID = 1437]
4. (4) [Option ID = 1440]

Correct Answer :-
® (4) [Option ID = 1440]



15)

As per new wagon numbering scheme, what is indicated by first two
digits?

(1) Owning Railway

(2) Type of wagon

(3) Year of manufacture
(4) Check digit

% 31 AT AIAT & HUR, TEel & T e G2ATT 87
O EUCHECED
(2) A3 T THIT
(3) AAUT FT Iy
(4) 9= B3

[Question ID = 361][Question Description = Q15_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1441]
2. (2) [Option ID = 1443]
3. (3) [Option ID = 1445]
4. (4) [Option ID = 1447]

Correct Answer :-
e (2) [Option ID = 1443]

What is the maximum permitted speed of LHB coach in case of enroute
breakage of primary spring?

(1) 110 kmph

(2) 60 kmph

(3) 95 kmph

(4) None of the above

wq;ﬁaﬂaﬁﬁﬁmnﬂf@iﬂ%;ﬁaﬁ%ﬁﬁa{fﬂﬁﬂmﬂﬁ
w87

(1) 110 Tasdt ufa ger

(2) 60 fepdT ufd ger

(3) 95 b dT ufd get

(4) SR H Y B3 Aol

[Question ID = 364][Question Description = Q16_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1450]
2. (2) [Option ID = 1451]



3. (3) [Option ID = 1453]
4. (4) [Option ID = 1455]

Correct Answer :-
® (3) [Option ID = 1453]

What is the maximum speed of WDP4 Locomotive?

(1) 130 kmph
(2) 160 kmph
(3) 150 kmph
(4) None of the above

WDP4 sisriAIfeT Fr s1ftesasn aifa s g?

(1) 130 fordT ufa =Zer
(2) 160 fordT ufa @er
(3) 150 ferdlY ufa =er
(4) 3FT & U Fig 78T

[Question ID = 365][Question Description = Q17_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1457]
2. (2) [Option ID = 1459]
3. (3) [Option ID = 1461]
4. (4) [Option ID = 1463]

Correct Answer :-
® (2) [Option ID = 1459]



18)

What is the maximum speed of clearing the blocked section with
floating / lifting locked axle?

(1) 25 kmph
(2) 15 kmph
(3) 20 kmph
(4) None of the above

Teiifem/fefteT dids vaud & Oy wiids 9aeH &I [GeamR &3 &l
3ty nifa @1 82

(1) 25 TdsHT Ul geT

(2) 15 T Hl Tl Her

(3) 20 fobdl ufd ger

(4) SRIgd T A HI5 o

[Question ID = 367][Question Description = Q18_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1465]
2. (2) [Option ID = 1467]
3. (3) [Option ID = 1469]
4. (4) [Option ID = 1471]

Correct Answer :-
e (1) [Option ID = 1465]

What is the Maximum tractive effort of WDP4D Locomotive?

(1) 24 tones
(2) 41 tones
(3) 53 tones
(4) None of these

WDPA4D dhiAIeT &7 31fehaa ¢iaed e fhaarg?
(1) 24 TF
(2) 41T
(3)53TF
(4) S @ HIT AgT

[Question ID = 369][Question Description = Q19_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1473]
2. (2) [Option ID = 1474]
3. (3) [Option ID = 1475]
4. (4) [Option ID = 1476]



Correct Answer :-
® (2) [Option ID = 1474]

Which of the following is used to convert pneumatic force in to
mechanical force?

(1) Brake cylinder
(2) Horn

(3) Hand Brake
(4) None of these

o & & Rrer 392 —@fes Bl & A%fns o & Sgoe
& fore frar smar &2

(1) 3% [T

(2) gt

©ELED

(4) 3T W IS AL

[Question ID = 370][Question Description = Q20_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1477]
2. (2) [Option ID = 1478]
3. (3) [Option ID = 1479]
4. (4) [Option ID = 1480]

Correct Answer :-
e (1) [Option ID = 1477]



21)

“TRI - NETRA" is a project related to what?

(1) Introduction of CCTV Camera in Railway platform to monitor

passengers activity.
(2) Introduction of CCTV Camera in Diesel Shed to monitor

workmen activity.
(3) Terrain imaging for locomotive driver.

(4) All of the above

"B ohg i & TRaies ¥ gefea §7
(1) TITIAT T AT I Ao @ F 60 99 oledid W drdedT

HAL I
(2) FIHRT T ATATATY T Ao W & [olT Srater A3 H drGerar

HHT ST
(3) ArprAIfeT 3EaR & forw e safa)
(4) 39 T

[Question ID = 371][Question Description = Q21_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1481]
2. (2) [Option ID = 1482]
3. (3) [Option ID = 1483]
4. (4) [Option ID = 1484]

Correct Answer :-
® (3) [Option ID = 1483]

Calibration of Air Flow measuring valve in ALCO Locomotive is adjusted
at which reading?

(1) 110 wagon reading
(2) 90 wagon reading

(3) 100 wagon reading
(4) None of the above

Ued] didHIed H UaR Uall IS dicd & iosie= &f fag AT ™
A fur siar g2

(1) 110 a7 A&

(2) 90 9T ST

(3) 100 a7 ST

(4) SRIad H Y BIS el



[Question ID = 372][Question Description = Q22_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1485]
2. (2) [Option ID = 1486]
3. (3) [Option ID = 1487]
4. (4) [Option ID = 1488]

Correct Answer :-

e (3) [Option ID = 1487]

Which of the following is the Wheel arrangement in WDG4D/WDP4D

locomotive?
(1) CO-CO
(2) BO-BO
(3) BO1-BO1

(4) None of these

WDGA4D/WDP4D dreriAlfed & AeaToild & ¥ Hi a1 9ledr cqasar g?
(1) BIHT-HIHT
(2) ST
(3) &T3T 1- 13T 1
(4) 3TH A HIg LT

[Question ID = 373][Question Description = Q23_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1489]
2. (2) [Option ID = 1490]
3. (3) [Option ID = 1491]
4. (4) [Option ID = 1492]

Correct Answer :-
e (1) [Option ID = 1489]



24)

What is the maximum wheel diameter of Train-187?

(1) 952 mm
(2) 955 mm
(3) 954 mm
(4) None of the above

©49-18 & UleU &1 SHi¥dmar oy (a1 672
(1) 952 ToHT
(2) 955 foHT
(3) 954 foH!
(4) SWIgd & I S5 Aol

[Question ID = 374][Question Description = Q24_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1493]
2. (2) [Option ID = 1494]
3. (3) [Option ID = 1495]
4. (4) [Option ID = 1496]

Correct Answer :-
e (1) [Option ID = 1493]

Wheels of LHB coaches are provided with what type of bearing?

(1) Cartridge Tapered Roller Bearing
(2) Plain bearing

(3) Spherical Roller Bearing

(4) Cylindrical Roller Bearing

ToTUErE! i & UTET fohd TR & J31RET | o 8l 872
(1) FIfear €93 e Fafiar
(2) T SIfET
(3) THIE el SR
(4) AR s Uor e

[Question ID = 375][Question Description = Q25_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1497]
2. (2) [Option ID = 1498]
3. (3) [Option ID = 1499]
4. (4) [Option ID = 1500]

Correct Answer :-
e (1) [Option ID = 1497]



26)

Maximum working hours in a railway workshop is imposed by which Act?
(1) Factory Act, 1948
(2) Minimum Wages Act, 1948
(3) National Labor Relations Act, 1935
(4) None of the above

Yo ey #F 3ifiead F13 & ue e rRfETs garT oeme g &7
(1) ST HAfAfATa, 1948
(2) FgAAH Ay AT, 1948
(3) TS #1F gy AFfafaTa, 1935
(4) 39FT H U HIS 8T

[Question ID = 376][Question Description = Q26_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1501]
2. (2) [Option ID = 1502]
3. (3) [Option ID = 1503]
4. (4) [Option ID = 1504]

Correct Answer :-
e (1) [Option ID = 1501]



27)

In Group Incentive Scheme, what is the respective incentives for
Production shop, support shop and support departments?

(1) 100%, 75%, 50%
(2) 100%, 90%, 50%
(3) 100%, 80%, 50%
(4) None of the above

U 54fed Wi J Uisa= MY, JOic T IR guie fqum & fog g6fia
sAfcd a1 §?

(1) 100%, 75%, 50%
(2) 100%, 90%, 50%
(3) 100%, 80%, 50%
(4) SRIgd J I Fg ol

[Question ID = 377][Question Description = Q27_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1505]
2. (2) [Option ID = 1506]
3. (3) [Option ID = 1507]
4. (4) [Option ID = 1508]

Correct Answer :-
e (3) [Option ID = 1507]

How much ‘Fatigue allowance’ is added in CLW incentive scheme?

(1) 12.5%

(2) 33.33 %

(3) 10 %

(4) None of the above

HrTerseey WicHTg= AlsT=T H fehcf=IT 'Uehle 37T SisT 719 872

(1) 12.5%
(2) 33.33%
(3) 10%

(4) 39U H T FIS F&T

[Question ID = 378][Question Description = Q28_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1509]



2. (2) [Option ID = 1510]
3. (3) [Option ID = 1511]
4. (4) [Option ID = 1512]

Correct Answer :-
e (1) [Option ID = 1509]

How much air pressure should be dropped in brake van/ last vehicle of a
rake for continuity test?

(1) 0.8 Kg/Cm?
(2) 1.0 Kg/Cm?
(3) 1.2 Kg/Cm?
(4) 1.5 Kg/Cm?

faelt Yo # faaar & wdvaror & o st d=aifas a= 7 fha=r arg g
T ST =R

(1) 0.8 TRam/A#?

(2) 1.0 TRam/aT 2

(3) 1.2 TRam/as 2

(4) 1.5 TRam/as 2

[Question ID = 379][Question Description = Q29_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1513]
2. (2) [Option ID = 1514]
3. (3) [Option ID = 1515]
4. (4) [Option ID = 1516]

Correct Answer :- Deleted



30)

What is the function of Return spring provided in air brake cylinder of
wagons?

(1) To push the piston outside the cylinder
(2) To push the piston inside the cylinder
(3) To push the dead lever

(4) To push the control rod

AT F T 9 AT # v I arer Rest e s &/ 82
(1) Forre=r i BT & 9EY aehorar
(2) Treea = T&eis & 3T Uhof=T
(3) 32 NG T UFHT &AT
(4) shgTer TS & 2T HTAT

[Question ID = 380][Question Description = Q30_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1517]
2. (2) [Option ID = 1518]
3. (3) [Option ID = 1519]
4. (4) [Option ID = 1520]

Correct Answer :-
® (2) [Option ID = 1518]

While testing C3W / KE type DV for ICF Coaches, for emergency
application, what should be the brake cylinder filling time from 0 to 3.6
kg/cm2?

(1) 3to 5 sec

(2) 5to 8 sec

(3) 81to 10 sec

(4) None of the above

HTATARTell HHANET & [oIT ICF e & C3W / KE 89 DV T TI&ToT
Fd THT, 5 Wizt 1 0 I 3.6 fhamaa? oo o’ &1 98T F41 811
Iee?

(1) 385 qFs

(2) 57 8 Hh3

(3) 8 ¥ 10 Uhs

(4) FRIFT J T FS T84T

[Question ID = 381][Question Description = Q31_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1521]



2. (2) [Option ID = 1522]
3. (3) [Option ID = 1523]
4. (4) [Option ID = 1524]

Correct Answer :-
e (1) [Option ID = 1521]

In a wagon, APM is interposed between which assemblies?

(1) Bolster and spring plank

(2) Wagon underframe and bogie side frame
(3) Bogie side frame and Bolster

(4) Wagon underframe and bolster

T 391 H UHIUH &l et 370aelT & 1T SeTalsf [ohdl AT 872
(1) Sreree 3R & ol
(2) 91 33ThA AR S T3 e
(3) I W1EE %A 3R et
(4) AT HSTHA AR FeTeT

[Question ID = 382][Question Description = Q32_AWM_PA_NAIRJUNE23]
(1) [Option ID = 1525]
. (2) [Option ID = 1526]
. (3) [Option ID = 1527]
. (4) [Option ID = 1528]

A wN =

Correct Answer :-
® (2) [Option ID = 1526]



33)

Which of the following is the maintenance manual of Casnub bogie?

(1) G 97
(2) G 80
(3) G 95
(4) G 72

ol & & FisT A1 Fu= arefl 7 3eTaTor A3 &2
(1) ST 97
(2) ST 80
(3) 3T 95
(4) AT 72

[Question ID = 383][Question Description = Q33_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1529]
2. (2) [Option ID = 1530]
3. (3) [Option ID = 1531]
4. (4) [Option ID = 1532]

Correct Answer :-

e (3) [Option ID = 1531]

What is the L10 life of Class "E" type of CTRB used in wagons?

(1) 14 lac Km
(2) 10 lac Km
(3)12 lac Km
(4) None of the above

97T A STIATS Bl aTel F97 3" WehTT HIEIATET 3T TeT10 g o= 872
(1) 14 o et
(2) 10 9@ AT
(3) 12 o oA
(4) IUFT H T IS 6T

[Question ID = 384][Question Description = Q34_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1533]
2. (2) [Option ID = 1534]



3. (3) [Option ID = 1535]
4. (4) [Option ID = 1536]

Correct Answer :-
® (2) [Option ID = 1534]

Which of the following is the weakest link of the center buffer coupler?

(1) Knuckle
(2) Draft gear
(3) Lock

(4) Yoke pin

fF=fof@a & & FiF g aer 7oy T F9er Ff a0 FAFIT Far 872
(1) TFhet
(2) 3FE AT
(3) oifer
(4) Ot A=

[Question ID = 385][Question Description = Q35_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1537]
2. (2) [Option ID = 1538]
3. (3) [Option ID = 1539]
4. (4) [Option ID = 1540]

Correct Answer :-
e (1) [Option ID = 1537]



36)

In HHP Locomotive, handbrake apply in which wheels?

(1) R1&R2,
(2) R4&R5,
(3) L1&L2,

(4) None of the above

TUgUT AhiAIed & §39 (b fgd H oIl AT 872
(1) 31T 1 AT AT 2,

(2) 3174 HIT 35,

(3) Tel 1 AT TH 2,

(4) I9F H Y FIS G0

[Question ID = 386][Question Description = Q36_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1541]
2. (2) [Option ID = 1542]
3. (3) [Option ID = 1543]
4. (4) [Option ID = 1544]

Correct Answer :-
® (2) [Option ID = 1542]

What is the maximum permissible variation between CBC height of
adjacent wagons?

(1) 72.5 mm

(2) 75 mm

(3) 76 mm

(4) None of the above

HTHe= 1A hT IS S8 o o1 ATeehdd AT fHeaAdl #3187
(1) 72.5 fA&T
(2) 75 TR
(3) 76 fAAT
(4) ITFT H Y His T8

[Question ID = 387][Question Description = Q37_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1545]
2. (2) [Option ID = 1546]
3. (3) [Option ID = 1547]
4. (4) [Option ID = 1548]



Correct Answer :-
® (2) [Option ID = 1546]

For coupling two wagons which of the following is true?

(1) Can be coupled in any position of knuckles of both the facing
couplers

(2) Knuckles of both facing couplers must be in open condition

(3) Knuckle of one coupler should be in open condition while the
other one should be in closed condition

(4) None of the above

&l 49T & FAfolr F o =@ # A sl aracT &7
(1) E1AT SHTHIT HURT & ot ol ey off Tu A AT T TFar 8
(2) eI ST FeRT T TR ger fEufd 7 g afew
(3) GIAT SHTHIT HYSRT 3 Ferchol H Teh Goll Bl AMGT Fe1eh GAU IG
QEISIIEY
(4) 3UFT H T IS e

[Question ID = 388][Question Description = Q38_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1549]
2. (2) [Option ID = 1550]
3. (3) [Option ID = 1551]
4. (4) [Option ID = 1552]

Correct Answer :- Deleted



39)

Which type of composite brake block is used in BOXN having under
frame mounted brake system?

(1) 'K type

(2) 'L type

(3) Modified 'K’ type
(4) None of the above

37T WhH AT3CS o [OFeH & BOXN H foFT YR & SIFqifare sieh sdlish &1
TN fohaT ST 7

(1) & 9ehIT

(2) T UHT

(3) TN & TR

(4) 3O H | FiS g0

[Question ID = 389][Question Description = Q39_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1553]
2. (2) [Option ID = 1554]
3. (3) [Option ID = 1555]
4. (4) [Option ID = 1556]

Correct Answer :-
® (2) [Option ID = 1554]

‘C’ class ODC shall be moved during which time?

(1) Day light
(2) Any time
(3) Only night time
(4) All of the above

re Taa F ghuer 'dr 39t 3 Taeaie R s aear g
NG EEICE:]
(2) et oft
(3) ad Ud & THT
(4) 3UeFT Gl



[Question ID = 390][Question Description = Q40_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1557]
2. (2) [Option ID = 1558]
3. (3) [Option ID = 1559]
4. (4) [Option ID = 1560]

Correct Answer :-
e (1) [Option ID = 1557]

What is the seating force required for mounting CTRB on a BOXN
wheel?

(1) 50 £ 5 Tons
(2) 55 £ 5 Tons
(3) 60 £ 5 Tons
(4) None of the above

SIFHT SEier T HETHITET o9 & forw faféer vt 2 g @nfge?
(1)50 + 52
(2)55+ 5T
(3)60 52
(4) 3RS H Y HIZ A8

[Question ID = 391][Question Description = Q41_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1561]
2. (2) [Option ID = 1562]
3. (3) [Option ID = 1563]
4. (4) [Option ID = 1564]

Correct Answer :-
e (1) [Option ID = 1561]



42)

Why Universal shaft is used to drive radiator fan of a loco?

(1) Iltisrigid

(2) Itis strong

(3) Itis self align

(4) None of the above

fordt wiiept & If2Uey v@ A T & fow gfaasie e &1 39T T
feram ST 872

(1) T& HON BT &

(2) TE VT BIT &

(3) Fg F-WAT &

(4) 39FT H U His 781

[Question ID = 392][Question Description = Q42_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1565]
2. (2) [Option ID = 1566]
3. (3) [Option ID = 1567]
4. (4) [Option ID = 1568]

Correct Answer :-

& (3) [Option ID = 1567]

What is the unit of S.F.C. (Specific Fuel consumption) for a Diesel-
Electric locomotive?

(1) gm/bhp-hr

(2) Liters/Kw-hr

(3) Kg/Newton-hr

(4) None of the above

SISTd-Solldgd AlPIAIC & oIV vg.uH . (fafese Su= @uq) fr ss
FIAT &

(1) IMH/ETIG-EET

(2) Slre/feretare-ger

(3) feRam/=ge=r-Eer

(4) 3R H g 7T

[Question ID = 393][Question Description = Q43_AWM_PA_NAIRJUNE23]



(1) [Option ID = 1569]
(2) [Option ID = 1570]
(3) [Option ID = 1571]
(4) [Option ID = 1572]

A W N -

Correct Answer :-
e (1) [Option ID = 1569]

In ALCO type WDM2 locomotive, what is the permissible temperature
difference between the two consecutive main bearings?

(1) 5°Celsius
(2) 10°Celsius
(3) 15°Celsius
(4) None of the above

3feTeh! (ALCO) W 3 WDM2 wishiAlfea &, seTdR & H&d fIia &
T AT ATIHT AT FAT 82

(1) 5° HerIs

(2) 10° HERIE

(3) 15° TEIS

(4) 3TN F HIE TE

[Question ID = 394][Question Description = Q44_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1573]
2. (2) [Option ID = 1574]
3. (3) [Option ID = 1575]
4. (4) [Option ID = 1576]

Correct Answer :-
e (2) [Option ID = 1574]



Which of the following throw out the burnt gases during scavenging in
Locomotives?

(1) Fresh air

(2) burnt gases

(3) Turbo Super Charger
(4) None of the above

oliehiATica # FhralsieT(scavenging) & GRTeT STell g3 T &I for=lolaa #
T Fi I8 Hehrerar 872

(1) AT gar

(2) STeiT g3 3

(3) Taf guT AR

(4) 3RFT H U Fis T&r

[Question ID = 395][Question Description = Q45_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1577]
2. (2) [Option ID = 1578]
3. (3) [Option ID = 1579]
4. (4) [Option ID = 1580]

Correct Answer :-
e (1) [Option ID = 1577]

The tractive force from one vehicle is transmitted to the adjoining vehicle
in a train by which arrangement?

(1) Anchor link

(2) Draw Gear

(3) Buffing gear

(4) None of the above

¢ H U 964 U ¢iohed af 99T o aTge A [ohd SqaT ganT 9id fear
ST &7

(1) T oI

(2) 3T

(3) ST FrEY

(4) IS H G iz A8



[Question ID = 396][Question Description = Q46_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1581]
2. (2) [Option ID = 1582]
3. (3) [Option ID = 1583]
4. (4) [Option ID = 1584]

Correct Answer :-
e (2) [Option ID = 1582]

What is the recommended range of Brake piston travel adjustment in
WDM2 locomotive?

(1) 60mm to 130mm
(2) 100mm to 150 mm
(3) 67mm to 100 mm
(4) None of the above

WDM2 FhiAIeT # e FaFes sao TSeTeeae &l 3qRifad of 47 872
(1) 60 T & 130 T
(2) 100 A& & 150 AT
(3) 67 AT & 100 AT
(4) 3RFT H Y FIS A¢T

[Question ID = 397][Question Description = Q47_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1585]
2. (2) [Option ID = 1586]
3. (3) [Option ID = 1587]
4. (4) [Option ID = 1588]

Correct Answer :-
® (4) [Option ID = 1588]



48)

What is the the main function of anti roll bar in LHB Coaches?

(1) Ensures a Constant, increased inclination coefficient during
running of a train

(2) Ensures a Constant, reduced inclination coefficient during running
of a train

(3) To provided strength for bogie

(4) None of the above

TUHd! i H T Ul N 1 HET HI 47 81T 87

(1) & == & ERT= Teh [, aar gar sfeoaae Sifthfive giafead
AT

(2) &= T & GIRT Teh (8, HH STl ael HIfthiave GloAad Har g
(3) S197 % oI AT ST FAT

(4) FIFT H T His 78T

[Question ID = 398][Question Description = Q48_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1589]
2. (2) [Option ID = 1590]
3. (3) [Option ID = 1591]
4. (4) [Option ID = 1592]

Correct Answer :-
e (2) [Option ID = 1590]



49)

What is the rating at which electricity is supplied between LHB coaches
through the feeder lines?

(1) Single phase AC, 750 Volt
(2) Three phase AC, 415 Volt
(3) Three phase AC, 750 Voit
(4) None of the above

IS AT o ATEH § TATTE! Hial & ard (b JedT O faaiol I 3
I ST 872

(1) T&=rer W=t THY, 750 diee

(2) & T THT, 415 dlee

(3) 4 %=1 wHT, 750 atec

(4) 3UFT H U IS 8T

[Question ID = 399][Question Description = Q49_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1593]
2. (2) [Option ID = 1594]
3. (3) [Option ID = 1595]
4. (4) [Option ID = 1596]

Correct Answer :-
® (3) [Option ID = 1595]

What is the minimum pressure difference required between 02 bellows in
same bogie of a LHB Coach for activating FIBA?

(1) 1.0 #0232 kg/cm?
(2) 1.5 ®07) kg/cm?
(3) 1.2 #07) kg/cm?
(4) 1.1 #02 kg/cm?

FIBA &l TfthT &7 & ol Tsh LHB hiT &7 T & aeir J 02 Salia
(bellows) & &l =ATH gaTd 3T Fhd=AT 81T TITET?

(1) 1.0 (+-92) T3 / AT 2

(2) 1.5 +-0) feRaT / TAT 2

(3) 1.2 (+-0) feRam / WY 2

(4) 1.1 (+-02) TR / JHAY 2



[Question ID = 400][Question Description = Q50_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1597]
2. (2) [Option ID = 1598]
3. (3) [Option ID = 1599]
4. (4) [Option ID = 1600]

Correct Answer :- Deleted

As per IRCA part lll, while changing the wheels of a casnub bogie in
sickline/workshop, what is the maximum permissible limit of wheel tread
diameter difference on the same bogie?

(113 mm
(2) 5 mm
(3) 0.5 mm
(4) 25 mm

HTSHITHIT 37197 |11 & 3[HR, fAwers=1/asei # U& Fu-e amil &
qfgal & o THY, 3T AP 9T S@idl ¢35 SITH X ol ATaHaH
AT HIAT T &2

(1) 13 =T

(2) 5 AT

(3) 0.5 A=Y

(4) 25 &

[Question ID = 401][Question Description = Q51_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1601]
2. (2) [Option ID = 1602]
3. (3) [Option ID = 1603]
4. (4) [Option ID = 1604]

Correct Answer :-
e (1) [Option ID = 1601]



52)

Which Production unit developed the first indigenously made Trainset
(Train-18) of Indian Railways?

(1) Rail Coach Factory/Kapurthala
(2) Modern Coach Factory/Raebareli
(3) Rail Wheel Factory/Banglore

(4) Integral Coach Factory/Chennai

fFe 3cuTes SoTS & IR Y99 &7 Ig T Tacer fAfia torde (249-18)
ICEAEGRET I

(1) ToT I Herdl/amgTaelr

(2) AlzT we HeFRIFa el

(3) ¥er 28T e / AT

(4) IS Frg g /de=s

[Question ID = 402][Question Description = Q52_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1605]
2. (2) [Option ID = 1606]
3. (3) [Option ID = 1607]
4. (4) [Option ID = 1608]

Correct Answer :-

e (4) [Option ID = 1608]

The Time Offices under the control of a senior subordinate designated
'"The Head timekeeper' are placed under direct administrative control of
whom in a railway workshop?

(1) Workshop Accounts Officer (Finance Depariment)

(2) Workshop Personnel Officer (Personal Department)

(3) Deputy Chief Mechanical Engineer (Mechanical Department)
(4) Producton Engineer (Mechanical Depariment)

o9 R H 'S 83 eeAeW foas F9aur 7 oA iy giar g,
g drer wematas Ha=er 7 3@ Jarg?

(1) FRGTAT I@T AFTHET (e )

(2) TFIETAT FiTaeh TSR (FHITa TaHT)

(3) 39 HET Fitaes AATT (AT TaamT)

(4) TAIEEFAT ST (I AT

[Question ID = 403][Question Description = Q53_AWM_PA_NAIRJUNE23]



(1) [Option ID = 1609]
(2) [Option ID = 1610]
(3) [Option ID = 1611]
(4) [Option ID = 1612]

A W N -

Correct Answer :-
e (1) [Option ID = 1609]

What should be the maximum gap between brake disc and brake pad of
LHB coaches?

(1) 1.5mm

(2) 1mm

(3) 2mm

(4) None of the above

ToUTE! I F e (386 3N 9 U3 & &g sifdsad g o= g
Iige?

(1)1.5

(2) 1 A=

(3) 2 faaT

(4) 3T H § iz A6

[Question ID = 404][Question Description = Q54_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1613]
2. (2) [Option ID = 1614]
3. (3) [Option ID = 1615]
4. (4) [Option ID = 1616]

Correct Answer :-
e (1) [Option ID = 1613]



55)

What is the color code used for grouping ‘servicable helical spring’ of
ICF bogie?

(1) Yellow, blue, green
(2) Yellow, red, green
(3) Red, blue, green

(4) White, blue, green

CF ST & "Bfadae gToiehel TEUaT P TP e & [olT (e T IS HT
S9reT TR e &2

(1) dre, e, &1

(2) dreT, =Ie, &0

(3) wTer, =relT, &

(4) Bthe, =fraT, B0

[Question ID = 405][Question Description = Q55_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1617]
2. (2) [Option ID = 1618]
3. (3) [Option ID = 1619]
4. (4) [Option ID = 1620]

Correct Answer :-
e (1) [Option ID = 1617]

How many shock absorbers/dampers are used in LHB Coaches?

(1) 10
(2) 12
(3)18
(4) None of the above

TAUTET HET H e AT TeATadU/SFId &7 39T fohar J1ar 82
(1) 10
(2) 12
(3) 18

(4) 3IFT H F g 76T

[Question ID = 406][Question Description = Q56_AWM_PA_NAIRJUNE23]



(1) [Option ID = 1621]
(2) [Option ID = 1622]
(3) [Option ID = 1623]
(4) [Option ID = 1624]

A W N -

Correct Answer :-
e (3) [Option ID = 1623]

Which device is used for restricting vertical sliding of couplers between
engine and LHB power car?

(1) Vertical slide protector
(2) Restrictor

(3) Protecting device.

(4) None of these

S5 31X TUET UTaT R & o1 FYR & dicehel TATSIST i Ushel &
o forg TEarsw & 39T fohar Srar 82

(1) afésher To138 WieTex

(2) YFgFR

(3) Wefaesr Basy

(4) 3TH A g G

[Question ID = 407][Question Description = Q57_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1625]
2. (2) [Option ID = 1626]
3. (3) [Option ID = 1627]
4. (4) [Option ID = 1628]

Correct Answer :-
® (2) [Option ID = 1626]



58)

What is the minimum diameter of wheel in LHB coaches, when the
wheel is condemned?

(1) 813 mm
(2) 839mm
(3) 854 mm
(4) None of the above

ToTUTel! ™ H SEIol &1 =g=1cH ITH [Shel=ll BT &, 316 Selol s Bldl 67
(1) 813 A=

(2) 839 fA=T

(3) 854 AT

(4) FURFT H T IS =TT

[Question ID = 408][Question Description = Q58_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1629]
2. (2) [Option ID = 1630]
3. (3) [Option ID = 1631]
4. (4) [Option ID = 1632]

Correct Answer :-

e (4) [Option ID = 1632]

Which device is used to transmit loco speed from axle to the
speedometer in WDM27

(1) Techo generator
(2) Auxiliary generator
(3) Axle generator

(4) None of the above

WDM2 HierT 2T 31T & Tl (Axel) T TAIEHRY T& TATT & & ol
e Rar=w &1 3= har AT 72

(1) &I FTAET

(2) TFFeRRT F=ieT

(3) TFHA STAET

(4) 39T H T IS 78T

[Question ID = 409][Question Description = Q59_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1633]



2. (2) [Option ID = 1634]
3. (3) [Option ID = 1635]
4. (4) [Option ID = 1636]

Correct Answer :-
® (3) [Option ID = 1635]

What is the name of the distance between axle box crown and crown
safety bolt in ICF coach?

(1) Clearance ‘A’
(2) Clearance 'B’
(3) Clearance 'C’
(4) None of the above

|CF ==l # UerHol alerd sh13+7 3T 13T UTFET aloe o ST ehl g3l ol &
ATH E?

(1) FIryE T

(2) FelrgLy &r

(3) FIraT 'O

(4) 39T H T I 4T

[Question ID = 410][Question Description = Q60_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1637]
2. (2) [Option ID = 1638]
3. (3) [Option ID = 1639]
4. (4) [Option ID = 1640]

Correct Answer :-
e (1) [Option ID = 1637]



61)

Which test is conducted to detect Internal Cracks in the axle of a
wagon?

(1) Magna flux test
(2) Ultrasonic test
(3) Zyglo test

(4) Chemical test

91T & Tl H AN SR &1 Tl ol o folT il |1 qLraqor fohar
ST E?

(1) HTAT FolFH TTC

(2) 3regrafas ST

(3) STl TFE

(4) TETEES ST

[Question ID = 411][Question Description = Q61_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1641]
2. (2) [Option ID = 1642]
3. (3) [Option ID = 1643]
4. (4) [Option ID = 1644]

Correct Answer :-

e (2) [Option ID = 1642]

Why Reverser is used in WDM2 locomotive?

(1) for reversing the direction of rotation of traction motor
(2) To use the Dynamic braking

(3) To pass the power supply to Traction Motors

(4) None of the above

WDM2 sreprated & Rawy &1 3uater Fai fhar s &2
(1) ST AT & Yo ST Eem & 3o F fow

(2) STI=ITA ST 1 39T HE=T

(3) EeFI=T ATeH ®F fastel &1 3Tl 9T LA

(4) 390FT H U Fis F&T

[Question ID = 412][Question Description = Q62_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1645]
2. (2) [Option ID = 1646]
3. (3) [Option ID = 1647]



4. (4) [Option ID = 1648]

Correct Answer :-
e (1) [Option ID = 1645]

Which type of diesel engine is fitted in GM locomotive used by Indian
Railways?

(1) Four stroke
(2) Three stroke
(3) One stroke
(4) Two stroke

ARG {d SanT 3931 [T 1= arer Shva sterAlfea #7 g v &
STl SoT=F oIl AT 87

(1) 9 &Ih

(2) et ¥l

(3) Te FIH

(4) & T

[Question ID = 413][Question Description = Q63_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1649]
2. (2) [Option ID = 1650]
3. (3) [Option ID = 1651]
4. (4) [Option ID = 1652]

Correct Answer :-
e (4) [Option ID = 1652]



How much length of LHB coach body is increased in comparison of ICF
coach body?

(1) Approximetely - 2.0 meter
(2) Approximetely - 3.0 meter
(3) Approximetely - 1.5 meter
(4) None of the above

ITSHTSE I F13T T JolAT 7 ToIU=al Hiel dTsT I olals o=l 6Ts T8
&7

(1) TITTT - 2.0 Hiex

(2) T - 3.0 AT

(3) TS - 1.5 HeX

(4) 3R H ¥ FIT AT

[Question ID = 414][Question Description = Q64_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1653]
2. (2) [Option ID = 1654]
3. (3) [Option ID = 1655]
4. (4) [Option ID = 1656]

Correct Answer :-

e (1) [Option ID = 1653]

Which shop mainly conducts repair of Machineries & Plants in Indian
Railway workshop?

(1) Machine Shop

(2) Component Overhauling shop
(3) Mill wright shop

(4) none of these

AR {erd geheld 7 @i d 2T Head: A= 3 corie i AFAd
Tl 872

(1) Ff=T omg

(2) FUE TSI AT

(3) fFer U=e ama

(4) 38 O FiIg QI



[Question ID = 415][Question Description = Q65_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1657]
2. (2) [Option ID = 1658]
3. (3) [Option ID = 1659]
4. (4) [Option ID = 1660]

Correct Answer :-

e (3) [Option ID = 1659]

66) How many emergency windows provided in ICF design AC 2 tier
coaches?

(1) Two
(4) Six
(3) Four
(4) Eight

STITE SoTS THY 2 &Y o # hdeaT 3TaTdsel= Esihar shme
ST 87
(1)ar
(2) 57
(3) I
(4) HATS
[Question ID = 416][Question Description = Q66_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1661]
2. (2) [Option ID = 1662]
3. (3) [Option ID = 1663]
4. (4) [Option ID = 1664]
Correct Answer :-

e (3) [Option ID = 1663]

What is the chock size of Guard emergency brake valve?

(1) 8.0 mm
(2) 6.0 mm
(3) 5.0 mm
(4) None of the above

IS AT 9 died T ATk TS #4787
(1) 8.0 A=Y

(2) 6.0 fA#Y

(3) 5.0 AT

(4) 3IFT F U s 8T



[Question ID = 417][Question Description = Q67_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1665]
2. (2) [Option ID = 1666]
3. (3) [Option ID = 1667]
4. (4) [Option ID = 1668]

Correct Answer :-
e (1) [Option ID = 1665]

First POH of newly built BOXNHL wagons is to be done after how many
years of its manufacturing?

(1) 4.5 year
(2) 5 year

(3) 6.0 year
(4) 6.5 year

A9 [ATHT BOXNHL 3311 &1 Ugelm POH 38 AATT & fohd= aut & a1,
T ST 87

(1)4.5 3§

(2)5ay

(3) 6.0 Y

(4)6.5 a9

[Question ID = 418][Question Description = Q68_AWM_PA_NAIRJUNE23]
(1) [Option ID = 1669]
. (2) [Option ID = 1670]
. (3) [Option ID = 1671]
. (4) [Option ID = 1672]

A w N -

Correct Answer :-
e (3) [Option ID = 1671]



69)

What should be the brake power of CC rake after examination from
nodal point?

(1) 90%
(2) 100%
(3) 85%
(4) 80%

AlS w@rse ¥ AT & 916 D181 36 &l 50 9TaY [ohda! alell dIgu?

(1) 90%
(2) 100%
(3) 85%
(4) 80%

[Question ID = 419][Question Description = Q69_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1673]
2. (2) [Option ID = 1674]
3. (3) [Option ID = 1675]
4. (4) [Option ID = 1676]

Correct Answer :-
e (2) [Option ID = 1674]

If in a load there is air pressure in BP, then what is essential while
uncoupling BP air hose?

(1) Open both adjacent BP angle cock
(2) Close both adjacent BP angle cocks
(3) Close supply of air from loco

(4) None of the above

gfe iz F &t F TR &, 3t ik TR #Y TS g GHT #7497
HGTF g7

(1) ST 3167 & &1t TITeT Hich T Wiot

(2) ST 3T & SIdT TITeT ahich i ¢, Y

(3) Siepr { gaT &I HTYfe &g

(4) 3IRFT H F g 6T

[Question ID = 420][Question Description = Q70_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1677]
2. (2) [Option ID = 1678]
3. (3) [Option ID = 1679]
4. (4) [Option ID = 1680]



Correct Answer :-
e (2) [Option ID = 1678]

Which type of welding is most suitable for welding of Stainless Steel?

(1) TIG

(2) Manual Arc Welding
(3) MIG

(4) None of the above

TN T &7 afe=a & forw foFd TR T afeer Had 3ugad §7
(1) Eramgs

(2) A3l T AToST

(3) THITESHT

(4) 3UFT H U HIS A4

[Question ID = 421][Question Description = Q71_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1681]
2. (2) [Option ID = 1682]
3. (3) [Option ID = 1683]
4. (4) [Option ID = 1684]

Correct Answer :-

e (1) [Option ID = 1681]

Which of the following are measurable wheel defects arising due to
normal wear & tear in rolling stock?

(1) Thin flange

(2) Deep flange

(3) Sharp flange

(4) All of the above

AT Tere & A= BaE-fest & sro RefeRa T g g g s
(1) = vl

(2) 319 FolT

(3) 2T FolaT

(4) IuRia T

[Question ID = 422][Question Description = Q72_AWM_PA_NAIRJUNE23]



(1) [Option ID = 1685]
(2) [Option ID = 1686]
(3) [Option ID = 1687]
(4) [Option ID = 1688]

A W N -

Correct Answer :-
e (4) [Option ID = 1688]

What is the POH periodicity of newly built ICF coach working in Mail/
Express train?

(1) 9 month
(2) 12 month
(3) 18 month
(4) 24 month

AT/UFHAUY ¢ H FIG F4 97 HSHUS i Fr fi3ee smafesar #ar
g7

(1) 9 W=

(2) 12 HgIY

(3) 18 gl

(4) 24 AGIA

[Question ID = 423][Question Description = Q73_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1689]
2. (2) [Option ID = 1690]
3. (3) [Option ID = 1691]
4. (4) [Option ID = 1692]

Correct Answer :-
e (4) [Option ID = 1692]



When driver is working from right control stand and A-9 is applied from
left control stand in emergency position, then what will happen?

(1) Loco will come to idle

(2) Loco will not come to idle

(3) Loco will shutdown

(4) Only BP will drop and nothing else will happen

319 STSaY T4 Shele T8 ¥ 1A ¥ (8T & 31T A-9 & sargerrel eufa &
910 oo T3 T 39T foham aram, af 47 grem?

(1) SiTeAl TS5 &1 AT

(2) SllehT HTEST FEI BT

(3) SAlehl &g g AT

(4) e BP &H g1 3R o 6T 891

[Question ID = 424][Question Description = Q74_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1693]
2. (2) [Option ID = 1694]
3. (3) [Option ID = 1695]
4. (4) [Option ID = 1696]

Correct Answer :-

e (1) [Option ID = 1693]

Which of the following instrument is most suitable to measure external
and internal diameter of shafts as well as thickness of parts?

(1) Outside micrometer

(2) Inside micrometer

(3) Depth gauge micrometer
(4) Vernier caliper

F=ET & O S 91 39T aTve F a8 31T 3aiE =31y & gry-
| AT T ATCTS T AT & (o0 Fad 397 &7

(1) 3TT3CHTZS ATSHIATET

(2) $THISS ATSHIAT

(3) & ATFHIHET

(4) IfFIT HATT

[Question ID = 425][Question Description = Q75_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1697]



2. (2) [Option ID = 1698]
3. (3) [Option ID = 1699]
4. (4) [Option ID = 1700]

Correct Answer :-
® (4) [Option ID = 1700]

Where the Brake caliper unit is mounted on LHB Coach?

(1) Bogie cross beam
(2) Bogie side frame
(3) Wheel axles

(4) Any of above

ToTUIE! sl H seh ol AIC shal ol glel 82
(1) St g A

(2) a3 @123 A

(3) TEToT TFH

(4) 39S H G His o

[Question ID = 426][Question Description = Q76_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1701]
2. (2) [Option ID = 1702]
3. (3) [Option ID = 1703]
4. (4) [Option ID = 1704]

Correct Answer :-
e (1) [Option ID = 1701]



77)

What is the function of SAB in a wagon?

(1) To maintain the slack between pull rod and lever.

(2) To maintain the slack between piston and Brake Cylinder.

(3) To maintain the slack between brake block and wheel treads.
(4) None of the above

U 391 H SAB &7 7T F1Y 872

(1) GeT X3 3 e & &I Foleh T=017 T@HT|

(2) Torees 3R o Afoe=t & da wois 910 @)
(3) §%F salieh 3T Eer T30 F &g Tolsh F410 T
(4) 39T H W HIS 8T

[Question ID = 427][Question Description = Q77_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1705]
2. (2) [Option ID = 1706]
3. (3) [Option ID = 1707]
4. (4) [Option ID = 1708]

Correct Answer :-

& (3) [Option ID = 1707]

What is the full form of PEASD?

(1) Passenger emergency alarm shut down

(2) Passenger emergency alarm signal device

(3) Passenger entrance admission signal device
(4) Passenger emergency admission signal device

PEASD & quT &9 &7 £7

(1) YR TASAT=T 3olTH oI I3

(2) R vHSTeg e e Rasy
(3) YT vewH vsiRee e fRasw
(4) YR SA==4r vsHeT e fSasw

[Question ID = 428][Question Description = Q78_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1709]
2. (2) [Option ID = 1710]



3. (3) [Option ID = 1711]
4. (4) [Option ID = 1712]

Correct Answer :-
® (2) [Option ID = 1710]

Which type of transmission is used in HHP Locomotive?

(1) DC-DC
(2) AC-DC
(3) AC-AC
(4) None of these

TgUadl dAetAled H hd TR & SIATAI HT 39ART fohdl AT 872
(1) SrE-Srer

(2) THr-3r AT

(3) TH-TH

(4) 3T G I3 GT

[Question ID = 429][Question Description = Q79_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1713]
2. (2) [Option ID = 1714]
3. (3) [Option ID = 1715]
4. (4) [Option ID = 1716]

Correct Answer :-
® (3) [Option ID = 1715]



80)

In air brake system of coaches, the thread joints are tightened with
which type of tape?

(1) Cello tape

(2) Teflon tape

(3) Paper tape

(4) None of the above

FIS F TIT I9F [AreH # 93 Fecy & Fu veR F ev ¥ ase fFar
ST 87

(1) TAT eq

(2) TFeATT &

(3) 9T T

(4) 39Fa A W FIS T&T

[Question ID = 430][Question Description = Q80_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1717]
2. (2) [Option ID = 1718]
3. (3) [Option ID = 1719]
4. (4) [Option ID = 1720]

Correct Answer :-
® (2) [Option ID = 1718]



What is the root radius when new wheel is turned in wheel lathe to ‘worn
wheel profile’?

(1) 13 mm

(2) 14 mm

(3) 15 mm

(4) None of the above

T AT SEToT T BTl of H To1 BTl WISl H T 73T AT & a1 &€
NERR T

(1) 13 3T

(2) 14 T

(3) 15 T3

(4) 3T H H F1F AT

[Question ID = 431][Question Description = Q81_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1721]
2. (2) [Option ID = 1722]
3. (3) [Option ID = 1723]
4. (4) [Option ID = 1724]

Correct Answer :-
® (2) [Option ID = 1722]

What type of axles is used in AC and Non-AC ICF Coaches
respectively?

(1) 16.25T and 13T
(2) 20.3T and 16T

(3) 25T and 16.25T
(4) None of the above

THY 3T AT SHE FHrEy H FA: FH UHR F UFHT FH 39T
foraT STaT &7

(1) 16.25 e 3 13 &=

(2)20.3TT AN 16T

(3) 25 T 3T 16.25 e

(4) 3UUFT H U FIS &7

[Question ID = 432][Question Description = Q82_AWM_PA_NAIRJUNE23]



(1) [Option ID = 1725]
(2) [Option ID = 1726]
(3) [Option ID = 1727]
(4) [Option ID = 1728]

A W N -

Correct Answer :-
e (1) [Option ID = 1725]

Which type of coupler is used in DEMU/EMU coaches?

(1) AAR Modified

(2) Schaku

(3) AAR type HT

(4) None of the above

3H/SUAY Hrdl # [ TR & HUI T TG1RT fahar SATar 872
(1) TUHAR ARDHIES

(2) TH

(3) TUHN 12T TLr

(4) IUFT H T IS A8

[Question ID = 433][Question Description = Q83_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1729]
2. (2) [Option ID = 1730]
3. (3) [Option ID = 1731]
4. (4) [Option ID = 1732]

Correct Answer :-
® (2) [Option ID = 1730]



In which schedule maintenance of ICF coach, the coach is to be
detached from rake and placed in Sick Line for maintenance?

(1) A" Scheduie
(2) “B" Schedule
(3) Trip Schedule
(4) Intermediate Over Hauling (IOH)

HSEUE FIT &F FF ASYA HEAT H 1T HI 1F T AT HIF [0 A5
H ey frar a7

(1) "T" AZTA

(2) "dr SFepEer

(3) fer <7

(4) FeTHIETT H1aT gifeler (ASHTT)

[Question ID = 434][Question Description = Q84_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1733]
2. (2) [Option ID = 1734]
3. (3) [Option ID = 1735]
4. (4) [Option ID = 1736]

Correct Answer :-
® (4) [Option ID = 1736]



Which of the following observation is not done during "Rolling In”
examination?

(1) Observe for any loose or dangling components.
(2) Observe whether there are any flat places on the tyre (skidded
wheel).

(3) Observe and listen for any warm axle box (damages in roller
bearing).
(4) Observe that any coach/Wagon has Low wheel diameter

TaofEa 3 O Fi7 a1 g "Uieer 3= 9fieT & = J8r [ ST
¥

(1) R 3T Eror IT STeHa aTel el T Tl

(2) R (E3 =fieT) W HIs AUTE TITH § AT e |

(3) Tl oft 7o verwe afeF (Ter 9T & &1f) 1 & AR g1

C i C R E NG e A G EIE e e R R D e e e P

[Question ID = 435][Question Description = Q85_AWM_PA_NAIRJUNE23]
1. (1) [Option ID = 1737]
2. (2) [Option ID = 1738]
3. (3) [Option ID = 1739]
4. (4) [Option ID = 1740]

Correct Answer :-
e (4) [Option ID = 1740]

Topic:- AWM_PB_NAIRJUNE23



1)

Where is the headquarter of Interpol located?
(1) Macau

(2) Lyon

(3) Rome

(4) Berne

SIS T HEATIT FHgl 00 67
(1) HPTF

(2) o=

(3) A

(4) =

[Question ID = 436][Question Description = Q01_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1741]
2. (2) [Option ID = 1742]
3. (3) [Option ID = 1743]
4. (4) [Option ID = 1744]

Correct Answer :-
® (2) [Option ID = 1742]

Which of the following is not correctly matched?
(1) Kalidasa — Raghuvamsa

(2) Bhasa — Swapnavasavadatta

(3) Subandhu — Kadambari

(4) Harsha — Ratnavali

=ffEa 7 ¥ =la ar 58 e 78 &2
(1) SHTTeIETH - TEer

(2) STTST — EICAATHaGHT

(3) gaY-wIGFY

(4) B — Te=ATaalr

[Question ID = 437][Question Description = Q02_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1745]
2. (2) [Option ID = 1746]
3. (3) [Option ID = 1747]
4. (4) [Option ID = 1748]

Correct Answer :-



e (3) [Option ID = 1747]

Who was founder of the Slave dynasty?
(1) ltutmish

(2) Qutbuddin Aibak

(3) Razia

(4) Balban

I[OITH & T HELTeh et AT ?

(1) Seqgdia
(2) Fddes = VaH

(3) ==
(4) IS

[Question ID = 438][Question Description = Q03_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1749]
2. (2) [Option ID = 1750]
3. (3) [Option ID = 1751]
4. (4) [Option ID = 1752]

Correct Answer :-
e (2) [Option ID = 1750]

Which of the following is not correctly matched?
(1) Babur — Battle of Khanwa

(2) Humayun — Battle of Chausa

(3) Akbar — Battle of Haldighati

(4) Jahangir — Battle of Balkh

fAr=fai@a # @ ia a1 adr gAfea =81 872
(1) Se - WIeTaT T oo

(2) gAY - <IIET T g

(3) 3ThaT- ECGIETET ShT oI

(4) SRR - FoW@ & Ieu

[Question ID = 439][Question Description = Q04_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1753]
2. (2) [Option ID = 1754]



3. (3) [Option ID = 1755]
4. (4) [Option ID = 1756]

Correct Answer :-
® (4) [Option ID = 1756]

Which of the following law provides the basis of temperature
measurement?

(1) Third law of thermodynamics

(2) Zeroth law of thermodynamics

(3) First law of thermodynamics

(4) Second law of thermodynamics

A & O e a1 FuE § S IEe AT $7 3TUR YS ST 872
(1) gHAfmaATT & dar Fae

(2) AT & =Tal A

(3) YHTSHATATH &7 9galT [Fad

(4) FHfSIATTAFE &1 caU @aH

[Question ID = 440][Question Description = Q05_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1757]
2. (2) [Option ID = 1758]
3. (3) [Option ID = 1759]
4. (4) [Option ID = 1760]

Correct Answer :-
® (2) [Option ID = 1758]

At what temperature the volume of gas becomes zero?
(1) absolute scale of temperature

(2) absolute zero temperature

(3) absolute temperature

(4) dew point temperature

fore QraATT 9T 39 T AT YT & A 87
(1) ATTHTT &I gOT YATAT

(2) A Y= ATIAT

(3) I AT

(4) 3w JTIHTH

[Question ID = 441][Question Description = Q06_AWM_PB_NAIRJUNE23]



1. (1) [Option ID = 1761]
2. (2) [Option ID = 1762]
3. (3) [Option ID = 1763]
4. (4) [Option ID = 1764]

Correct Answer :-
® (2) [Option ID = 1762]

Biogas consists of which of the following?
(1) Only methane
(2) Methane and CO2 with some impurities

(3) Methane, Propane, Butane and some impurities
(4) Only Propane and Butane

TR F Aeaiaf@a # FiF anf@a 82
(1) gl HILT

(2) #re=T 3T CO2, F© Yo F /Y
(3) HrL, W=, s 3R Fo eefer
(4) Fod W= 3T sgeA

[Question ID = 442][Question Description = Q07_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1765]
2. (2) [Option ID = 1766]
3. (3) [Option ID = 1767]
4. (4) [Option ID = 1768]

Correct Answer :-
® (2) [Option ID = 1766]

Which of the following is India’s first super computer?
(1) Param 8000
(2) Param 80000
(3) Param 800
(4) Param 80

fFefafEa # ara #1 ggeT guv Fyet i are?
(1) 9T 8000

(2) 9T 80000

(3) TH 800

(4) 9T 80



[Question ID = 443][Question Description = Q08_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1769]
2. (2) [Option ID = 1770]
3. (3) [Option ID = 1771]
4. (4) [Option ID = 1772]

Correct Answer :-
e (1) [Option ID = 1769]

Which one of the following is a scalar quantity?
(1) velocity

(2) momentum

(3) displacement

(4) speed

=afef@a & @ =i o v arfger ufer &2
(1) &

(2) HaaT

(3) ATma=

(4) 71Ty

[Question ID = 444][Question Description = Q09_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1773]
2. (2) [Option ID = 1774]
3. (3) [Option ID = 1775]
4. (4) [Option ID = 1776]

Correct Answer :-
e (4) [Option ID = 1776]



10)

Which of the following statement is not true about RAM (random Access
Memory) of a computer?

(1) RAM is temporary storage area

(2) RAM is same as hard disk storage

(3) RAM is volatile

(4) Information stored in RAM is gone when you turn the computer off

TG $1 I (RAM) (13H o ® HANT) & I # Hrafliid & & i ar
HYF o 61 872

(1) T (RAM) 37ETET TeaT TRET &

(2) (RAM) 32 B ERG S TA §

(3) YA (RAM) FTeleTge &

(4) ST 319 FYCT H ¢ F ¢ d A (RAM) H HALTT =11 FATH 81
ST g

[Question ID = 445][Question Description = Q10_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1777]
2. (2) [Option ID = 1778]
3. (3) [Option ID = 1779]
4. (4) [Option ID = 1780]

Correct Answer :-
® (2) [Option ID = 1778]

Which type of gear commonly used for speed reduction of 50:17?
(1) Herringbone

(2) Spur

(3) Bevel

(4) Worm Wheel

50:1 &7 1T FH H o [oIT IJTATR W 7T TR F [T &1 93T e
AT E ?

(1) gRETET=

(2) TR

(3) dad

(4) TH =t

[Question ID = 446][Question Description = Q11_AWM_PB_NAIRJUNE23]



(1) [Option ID = 1781]
(2) [Option ID = 1782]
(3) [Option ID = 1783]
(4) [Option ID = 1784]

A W N -

Correct Answer :-
e (4) [Option ID = 1784]

The process of growing large molecules from small molecules is known
as what?

(1) Polymerization

(2) Polymorphism

(3) Hysteresis

(4) none of the above

BIE HULHT T3 HUL3HT & F=AT= T TfohaT &7 Hgolll & ?
(1) SIS AT

(2) giferATRER

(3) RreE®

(4) 3RIFT & T FIS 6T

[Question ID = 447][Question Description = Q12_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1785]
2. (2) [Option ID = 1786]
3. (3) [Option ID = 1787]
4. (4) [Option ID = 1788]

Correct Answer :-
e (1) [Option ID = 1785]



13)

Which of the following Production Units of Indian Railways is the first
Production Unit to be certified with Green Co. Platinum Rating?

(1) Modern Coach Factory, Raebareli

(2) Integral Coach Factory, Chennai

(3) Rail Coach Factory, Kapurthala

(4) Rail Wheel Factory, Yelahanka

ARET o Fr eafai@a & @ 39 8 3cues 3572 0 #1. wafeas
T & AU et arell Ugell 3cUIee 313 &7

(1) ATZ e thereT, TTGLT

(2) 3EIS HT herdl, Telg

(3) ToT =T therd, ST

(4) ToT =gIT therdl, Tgoiehl

[Question ID = 448][Question Description = Q13_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1789]
2. (2) [Option ID = 1790]
3. (3) [Option ID = 1791]
4. (4) [Option ID = 1792]

Correct Answer :-
e (1) [Option ID = 1789]

Which of the Following is a standard specific to only Rolling Stock

Industry?

(1) IRIS

(2) IS0 3834
(3) 58S

(4) None of the above

fF=foi@a # & =iF ar f&F Afer wie sear & v Rftse aes &2
(1) IRHITZTH

(2) ATSTHAT 3834

(3)5TH

(4) 3URFT H Y FIS 8T

[Question ID = 449][Question Description = Q14_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1793]
2. (2) [Option ID = 1794]



3. (3) [Option ID = 1795]
4. (4) [Option ID = 1796]

Correct Answer :-
e (1) [Option ID = 1793]

If ‘B' got 50% marks less than ‘A’ then what percent marks did ‘A’ got
more than ‘B".?

(1) 50%

(2) 100%

(3) 80%

(4) 75%

IiE ‘B’ &l A T 50% FF 375 Aol & af ‘A &l 'B' ¥ g uiaerg 37 es
Ao

(1) 50%

(2) 100%

(3) 80%

(4) 75%

[Question ID = 450][Question Description = Q15_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1797]
2. (2) [Option ID = 1798]
3. (3) [Option ID = 1799]
4. (4) [Option ID = 1800]

Correct Answer :-
e (2) [Option ID = 1798]

When a number is divided by 24, the remainder is 16. What will be
remainder when the same number is divided by 87

(1)3

(2) 4

(3)6

(4)0

9 TR &1 &1 24 T Aaniaid &har Jrar &, af Q9% 16 glar g 34T

& &1 8 U [Fanfarg 3 U Qe 3T gH?
(1)3
(2)4
(3)6
4)0



[Question ID = 451][Question Description = Q16_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1801]
2. (2) [Option ID = 1802]
3. (3) [Option ID = 1803]
4. (4) [Option ID = 1804]

Correct Answer :-
® (4) [Option ID = 1804]

A man's swimming speed with the current is 20 km/hr and the speed of
the current is 5 km/hr. What will be man's swimming speed against the
current?

(1) 9 km/hr

(2) 12.5 km/hr

(3) 8.5 km/hr

(4) 10 km/hr

1T o T Teh e o ehl olel o 1T 20 fhaeer g AR arrdrafa s
forafi/ereT &1 ey & favey cafedd & ot 1 a1fd &1 giefi?

(1) 9 fre/eEer

(2) 12.5 fert/eer

(3) 8.5 fopAT/EreT

(4) 10 TrsT/EeT

[Question ID = 452][Question Description = Q17_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1805]
2. (2) [Option ID = 1806]
3. (3) [Option ID = 1807]
4. (4) [Option ID = 1808]

Correct Answer :-
® (4) [Option ID = 1808]



18)

What will be the angle between the minute hand and the hour hand of a
clock when the time is 8:307

(1) 80°

(2) 75°

(3) 60°

(4) 105°

U 3T H Sd §AT 8:30 BT g Al A-e AT g i we A gz F A A

SHIUT FIT BETT?
(1) 80°

(2) 75°

(3) 60°

(4) 105°

[Question ID = 453][Question Description = Q18_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1809]
2. (2) [Option ID = 1810]
3. (3) [Option ID = 1811]
4. (4) [Option ID = 1812]

Correct Answer :-
® (2) [Option ID = 1810]

Two identical solid cubes of side “2m” are joined end to end. What will
be the total surface area of the resulting cuboid?

(1) 36m?2

(2) 40m?

(3) 28m?2

(4) 32m?

3T "2m" & &l HATA oIF "=l &l Ueh 8T & g@Y faY deh st S 81 a9
GRUTTHY ST 1 el Joo1T &TTHel T B2

(1) 36 A 2

(2) 40 #T 2

(3) 28 #Hr 2

(4) 32 HAr 2

[Question ID = 454][Question Description = Q19_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1813]
2. (2) [Option ID = 1814]
3. (3) [Option ID = 1815]



4. (4) [Option ID = 1816]

Correct Answer :-
e (2) [Option ID = 1814]

A single discount of 50% on an article costing ¥ 10000, is better than
two successive discounts of 40% and 10% by what value?

(1) ¥ 400

(2) ¥ 1000

(3) ¥ 500

(4) X 600

% 10000 T ST ATell T T 50% 1 Tehel B, 40% HR 10% Hrar

FATAR B¢ H fehdel! agaT 872
(1) % 400

(2) % 1000

(3) % 500

(4) % 600

[Question ID = 455][Question Description = Q20_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1817]
2. (2) [Option ID = 1818]
3. (3) [Option ID = 1819]
4. (4) [Option ID = 1820]

Correct Answer :-
e (1) [Option ID = 1817]



21)

A wire in the form of a circle having radius 21cm. If it is bent to form a
square then what will be the area of square?

(1) 1089 cm?

(2) 1386 cm?

(3) 441 cm?

(4) 1368 cm?

99 & ¥ # T o et Bear 21 T &1 3fE 38 o 391 911 & forw
ST SATAT & & G397 37 &5=Iel 4T 8191 2

(1) 1089 THT2

(2) 1386 T#H?

(3) 441 TR

(4) 1368 TH?

[Question ID = 456][Question Description = Q21_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1821]
2. (2) [Option ID = 1822]
3. (3) [Option ID = 1823]
4. (4) [Option ID = 1824]

Correct Answer :-
e (1) [Option ID = 1821]

What is the ratio of 100 m to 10 km?
(1) 110
(2) 1/100
(3) 1/1000
(4) 1000

100 HET H 10 ToraT T 3rqarel fohetarm §2
(1) 110

(2) 1/100

(3) 1/1000

(4) 1000

[Question ID = 457][Question Description = Q22_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1825]
2. (2) [Option ID = 1826]
3. (3) [Option ID = 1827]
4. (4) [Option ID = 1828]

Correct Answer :-



® (2) [Option ID = 1826]

What will be the sum of all the interior angles of a hexagon?
(1) 720°
(2) 540°
(3) 360°
(4) 180°

Ueh §CHT & HHT HIANe vl 1 J1T fehetaT BT 872
(1) 720°
(2) 540°
(3) 360°
(4) 180°

[Question ID = 458][Question Description = Q23_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1829]
2. (2) [Option ID = 1830]
3. (3) [Option ID = 1831]
4. (4) [Option ID = 1832]

Correct Answer :-
e (1) [Option ID = 1829]

The sum of two number is 25 and their difference is 13. What will be the
product of these numbers?

(1) 204

(2) 114

(3) 315

(4) 325

&l HEAT3T o7 T 25 & 31T IeTeht 37cT 13 &1 3T HEAT3HT T J[UTAthol 4T
grem?

(1) 204
(2) 114
(3) 315
(4) 325

[Question ID = 459][Question Description = Q24_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1833]
2. (2) [Option ID = 1834]
3. (3) [Option ID = 1835]
4. (4) [Option ID = 1836]

Correct Answer :-
® (2) [Option ID = 1834]



25)

A bag has 8 red balls and 8 green balls, what is the probability of getting
a red ball if it is drawn randomly from the bag without seeing?

(1) 1/4

(2) 1/8

(3) 1/2

(4) 1/64

TS 997 3 8 oITeT 31¢, 3 8 FiT 31 &, 997 & 372 ¢ &A1 U offel 31 T

IreTow 9 ¥ Aarer 1= & WIiHsar 27 &7
(1) 1/4

(2) 1/8

(3) 112

(4) 1/64

[Question ID = 460][Question Description = Q25_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1837]
2. (2) [Option ID = 1838]
3. (3) [Option ID = 1839]
4. (4) [Option ID = 1840]

Correct Answer :-
e (3) [Option ID = 1839]

What is the purpose of a rheostat in electrical circuit?

(1) Increase the magnitude of electric current only

(2) Decrease the magnitude of electric current only

(3) Increase or decrease the magnitude of electric current
(4) None of these

faegd gty 7 R3AFEE FT F7 3e Tl e ?
(1) sl f@egd URT HT IRATT FeT=A1

(2) shaer [dega 9RT & GIATOT sl geraT

(3) TeEgd 9T % TRATOT st ST AT HerET
(4) T A Y TE

[Question ID = 461][Question Description = Q26_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1841]
2. (2) [Option ID = 1842]
3. (3) [Option ID = 1843]
4. (4) [Option ID = 1844]



Correct Answer :-
e (3) [Option ID = 1843]

Copper wire of certain length and electric resistance is drawn out fo
three times its length without change in volume. What will be the new
resistance of wire?

(1) 1/9 times

(2) 3 times

(3) 9 times

(4) unchanged

ueh e SaTs duT ey wfal & did & o i &= 3= &7
UREce (el 3HE! oFaTs U diiel [T a9 QraT AT & | JR &7 747 Jioke
T g

(1) 1/9 =T

(2)

(3) =t 9=

(4) 3afEfaa

[Question ID = 462][Question Description = Q27_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1845]
2. (2) [Option ID = 1846]
3. (3) [Option ID = 1847]
4. (4) [Option ID = 1848]

Correct Answer :-
® (3) [Option ID = 1847]



28)

Which type of gear is used to transmit power from one rotating shaft to
another whose axes are neither parallel nor intersecting?

(1) Spur gear

(2) Spiral gear

(3) Bevel gear

(4) Worm gear

fore TR & FIraT T 3UT1T U g@e dTel ATE W GAY a0 lfed JaTid
= o fore fopa e &, ST o 7 & gaeiaR gt @ 3R 7 & vfoede
AT 82

(1) TR PR

(2) Tt T

(3) 99 T

(4) 77 T

[Question ID = 463][Question Description = Q28_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1849]
2. (2) [Option ID = 1850]
3. (3) [Option ID = 1851]
4. (4) [Option ID = 1852]

Correct Answer :- Deleted

Which heat treatment operation involves heating of steel above upper
critical temperature and then cooling it in the air?

(1) Annealing

(2) Tempering

(3) Austempering

(4) Normalizing

T & Sede TR 7 T & I FRew avH= ¥ F9T T HTAT
3T R =W ga1 & S27 LT afAaT 22

(1) TaATTolaT

(2) THARGET

(3) 3rEEadieT

(4) ARATATS T

[Question ID = 464][Question Description = Q29_AWM_PB_NAIRJUNE23]



(1) [Option ID = 1853]
(2) [Option ID = 1854]
(3) [Option ID = 1855]
(4) [Option ID = 1856]

A W N -

Correct Answer :-
e (4) [Option ID = 1856]

What is the length of the "Bogibeel Bridge", the longest rail-cum-road
bridge in India ?

(1) 7 km.

(2) 5.5 km.

(3)4.94 km.

(4) None of the above

HNA H HY oI {ol-U8-H5%F Jo "SHfaller forar &1 orars fohaed 872
(1) 7 .

(2) 5.5 AT

(3) 4.94 fH.#T.

(4) 3UUFT H T P 781

[Question ID = 465][Question Description = Q30_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1857]
2. (2) [Option ID = 1858]
3. (3) [Option ID = 1859]
4. (4) [Option ID = 1860]

Correct Answer :-
e (3) [Option ID = 1859]



31)

The Indian Railways are owned and managed by whom?
(1) Government of India
(2) Railway Board
(3) Ministry of Finance
(4)None of the above

AT TS 7 TaTTHRed 31X veu= e garr fohar srar 87
(1) T THR

PECEEIE]

(3) B9 #AeT

(4) 39 H W HIS 8T

[Question ID = 466][Question Description = Q31_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1861]
2. (2) [Option ID = 1862]
3. (3) [Option ID = 1863]
4. (4) [Option ID = 1864]

Correct Answer :-
e (1) [Option ID = 1861]

Who presided over the first meeting of the Indian Constituent Assembly?
(1) Dr. Rajendra Prasad

(2) Sachidananda Sinha

(3) B. R. Ambedkar

(4) None of the above

TRATT TTAUTT TAT T Uil 36 T ITCTETT oha= Fr oAi?
(1) =1, Tleg IHIG

(2) GaeHg egr

(3) &1, 3R, 3(FESHT

(4) 39T H G IS A6

[Question ID = 467][Question Description = Q32_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1865]
2. (2) [Option ID = 1866]
3. (3) [Option ID = 1867]
4. (4) [Option ID = 1868]

Correct Answer :-
e (2) [Option ID = 1866]



33)

Who is known as Iron man of India?
(1) Govind Ballabh Pant

(2) Jawaharlal Nehru

(3) Subhas Chandra Bose

(4) Sardar Vallabh bhai Patel

A & dilg o9 o F9 H FohE ST 77 872
(1) IMTdg ToorsT ud

(2) STATETTST FE®

(3) TV T, AT

(4) TG Goorsl TS e

[Question ID = 468][Question Description = Q33_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1869]
2. (2) [Option ID = 1870]
3. (3) [Option ID = 1871]
4. (4) [Option ID = 1872]

Correct Answer :-
® (4) [Option ID = 1872]

‘World is unstable and transient’ is related to which of the following?
(1) Buddhism

(2) Jainism

(3) Gita

(4) None of the above

Targ 31T 3R #oniTR & Meafaiaa & & e gafia §7
(1) dter ey

(2) AT uH

(3) 3frar

(4) 3RIeFa H § Fis 78T

[Question ID = 469][Question Description = Q34_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1873]
2. (2) [Option ID = 1874]
3. (3) [Option ID = 1875]
4. (4) [Option ID = 1876]

Correct Answer :-



e (1) [Option ID = 1873]

Which one of the following pairs (Nations and its Capitals) is not
correctly matched?

(1) Chile-Santiago

(2) Argentina-Buenos Aires

(3) North Korea-Seoul

(4) Ethiopia-Addis Ababa

fArafai@a & @ #ia 91 37 (Tvg 3 FHH Teranf=an) §e1 gATaa 720
&7

(1) Feei-dfeamn

(2) HAETAT-SIAT AT

(3) 3o HIRT-TAT

(4) SERATIAT-3ET 3EmET

[Question ID = 470][Question Description = Q35_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1877]
2. (2) [Option ID = 1878]
3. (3) [Option ID = 1879]
4. (4) [Option ID = 1880]

Correct Answer :-
e (3) [Option ID = 1879]



36)

To prevent recurrence of scams in Indian Capital Market, the
government has assigned regulatory powers to whom?

(1) RBI

(2) SBI

(3) SEBI

(4) ICICI

HAT Git ST 3 "ieTal @l g &l Uehed o [T, TR =
o afeaar |idy #2

(1) HETHTS

(2) THETITE

(3) THSHIANTS

(4) FTSHIHTSHIITE

[Question ID = 471][Question Description = Q36_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1881]
2. (2) [Option ID = 1882]
3. (3) [Option ID = 1883]
4. (4) [Option ID = 1884]

Correct Answer :-
e (3) [Option ID = 1883]

Which one of the following polymers is not biodegradable?
(1) Cellulose

(2) Starch

(3) Protein

(4) PVC

ferF=Tofld 3 T -7 agoreh A3NSATSH el 87
(1) Hegeiter

(2) T

(3) W

(4) 9T

[Question ID = 472][Question Description = Q37_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1885]



2. (2) [Option ID = 1886]
3. (3) [Option ID = 1887]
4. (4) [Option ID = 1888]

Correct Answer :-
® (4) [Option ID = 1888]

Which bacteria is helpful in making curd from milk?
(1) Mycobacterium

(2) E. Coli

(3) Lactobacillus

(4) Yeast

GU U CET T H PlI-HT A GT9] HETIH BT ¢ 7
(1) ATSHISFEINTH

(2) 5 e

(3) ST aeT

(4) @AR

[Question ID = 473][Question Description = Q38_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1889]
2. (2) [Option ID = 1890]
3. (3) [Option ID = 1891]
4. (4) [Option ID = 1892]

Correct Answer :-
® (3) [Option ID = 1891]



39)

Which one of the following cell organelles is known as ‘suicidal bags’ of
acell?

(1) Lysosomes

(2) Plastids

(3) Endoplasmic reticulum

(4) Mitochondria

Ar=ot@a 7 T Tohg T &t STt & 3 TcHYTT 897 & T H SAT=T
AT 8?

(1) A=EEHE

(2) ColTTEeSH

(3) USTCalTioHS chord

(4) ATSEIHI =541

[Question ID = 474][Question Description = Q39_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1893]
2. (2) [Option ID = 1894]
3. (3) [Option ID = 1895]
4. (4) [Option ID = 1896]

Correct Answer :-
e (1) [Option ID = 1893]

What is the role of chlorophyll in photosynthesis?
(1) absorption of water

(2) absorption of light energy

(3) absorption of Carbon Dioxide

(4) All of the above

SIhTer HROTSUT H FollUTthel T ${fHenT F4T &7
(1) GT=AT AT 37ELISOT

(2) VTSl AT ST eSO

(3) TS STSAHTFHTSS FT IF2ATHOT

(4) IS Tl

[Question ID = 475][Question Description = Q40_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1897]
2. (2) [Option ID = 1898]
3. (3) [Option ID = 1899]



4. (4) [Option ID = 1900]

Correct Answer :-
e (2) [Option ID = 1898]

When is Hindi Diwas celebrated?
(1) 14 September

(2) 16 September

(3) 25 October

(4) None of the above

&= Caw g AT AT E 2
(1)14 BaeT

(2) 16 fadex

(3) 25 3iTEFersET

(4) FIRIFT & § HIS 78T

[Question ID = 476][Question Description = Q41_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1901]
2. (2) [Option ID = 1902]
3. (3) [Option ID = 1903]
4. (4) [Option ID = 1904]

Correct Answer :-
e (1) [Option ID = 1901]

How many sections are there in the Official Language Act?
(17

(2)8

(3)9

(4) 10

T ffETH & ra= g &7
(1) 7
(2)8
(3)9
(4) 10

[Question ID = 477][Question Description = Q42_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1905]
2. (2) [Option ID = 1906]
3. (3) [Option ID = 1907]
4. (4) [Option ID = 1908]



Correct Answer :-
® (3) [Option ID = 1907]

Central Hindi Training Institute is under which ministry?
(1) Central Translation Bureau

(2) Ministry of Human Resource Development

(3) Ministry of Home Affairs

(4) None of the above

e T ufretor Heurs fohg Fare & anefi= 272
(1) G JFeare S
(2) AT GETY S| JaeT
(3) 7§ HATST
(4) 3UNFT H H DI3 LT

[Question ID = 478][Question Description = Q43_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1909]
2. (2) [Option ID = 1910]
3. (3) [Option ID = 1911]
4. (4) [Option ID = 1912]

Correct Answer :-
® (3) [Option ID = 1911]

Who presides over the meeting of the Divisional Official Language
Implementation Committee?

(1) Divisional Railway Manager

(2) Additional Divisional Railway Manager

(3) Deputy General Manager

(4) Rajbhasha Officer

HST USTHTST FrAT=ad< AIATT Fr do5F F 37e787 Hia 2l &2
(1) HAS I TaEH

(2) 39T HSH A JaUH

(3) 37 AZTIEYSH

(4) TrTATST T

[Question ID = 479][Question Description = Q44_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1913]
2. (2) [Option ID = 1914]
3. (3) [Option ID = 1915]



4. (4) [Option ID = 1916]

Correct Answer :-
e (1) [Option ID = 1913]

Who is the chairman of Central Hindi Committee?

(1) President of India
(2) Prime Minister of India
(3) Home Minister of India

(4) Secretary to the Government of India

e B afafa & g Hia &2
(1) AR & Tsgafd

(2) S o eI

(3) R & IEHA

(4) TR aRT &R

[Question ID = 480][Question Description = Q45_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1917]
2. (2) [Option ID = 1918]
3. (3) [Option ID = 1919]
4. (4) [Option ID = 1920]

Correct Answer :-
® (2) [Option ID = 1918]

When was the Parliamentary Committee on Official Language
constituted?

(1) 1963

(2) 1976

(3) 1987

(4) None of the above

TS AT FFATT T 15T T THam 1=2m 4172
(1) 1963
(2) 1976
(3) 1987

(4) 39 H W FIS 78T

[Question ID = 481][Question Description = Q46_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1921]
2. (2) [Option ID = 1922]
3. (3) [Option ID = 1923]



4. (4) [Option ID = 1924]

Correct Answer :-
® (2) [Option ID = 1922]

How many members are there in the Parliamentary Committee on
Official Language?

(1) 20

(2) 10

(3) 30

(4) 40

TEET TUTATST Giafa & o Geeg gia 272
(1) 20
(2) 10
(3) 30
(4) 40

[Question ID = 482][Question Description = Q47_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1925]
2. (2) [Option ID = 1926]
3. (3) [Option ID = 1927]
4. (4) [Option ID = 1928]

Correct Answer :-
® (3) [Option ID = 1927]

When is World Hindi Day celebrated?
(1) 10th January

(2) 25th January

(3) 21st September

(4) 14th February

o7 &=y aw wa gamr San & 2
(1) 10 ST=1adr

(2) 25 FF=TaLT

(3) 21 gyt

(4) 14 BLELT

[Question ID = 483][Question Description = Q48_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1929]
2. (2) [Option ID = 1930]
3. (3) [Option ID = 1931]
4. (4) [Option ID = 1932]



Correct Answer :-
e (1) [Option ID = 1929]

When did Section 3 (3) of the Official Language Act come into force?
(1) 26 January 1965

(2) 26 January 1967

(3) 26 January 1955

(4) None of the above

TS ST T °RT 3 (3) el F AR F37 ?
(1) 26 S 1965

(2) 26 ST=1aLr 1967

(3) 26 S=TaT 1955

(4) IRFT H Y FIS AGT

[Question ID = 484][Question Description = Q49_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1933]
2. (2) [Option ID = 1934]
3. (3) [Option ID = 1935]
4. (4) [Option ID = 1936]

Correct Answer :-
e (1) [Option ID = 1933]

How many languages are included in the Eighth Schedule of the Indian
Constitution?

(1) 22

(2) 20

(3) 24

(4)18

HIATT EiSeT= T 3Toa! ITHET 7 ol [ehet=l HATNIT AT 82
(1) 22
(2) 20
(3) 24
(4)18

[Question ID = 485][Question Description = Q50_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1937]
2. (2) [Option ID = 1938]
3. (3) [Option ID = 1939]
4. (4) [Option ID = 1940]

Correct Answer :-



e (1) [Option ID = 1937]

When was the Official Languages Resolution Passed by both Houses of
Parliament?

(1) 1968

(2) 1967

(3) 1960

(4) None of the above

UG & 1T HE=AT GaRT TTHIT Hehod o GRS fadT 31T 472
(1) 1968
(2) 1967
(3) 1960

(4) 39VFaT H W HIS LT

[Question ID = 486][Question Description = Q51_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1941]
2. (2) [Option ID = 1942]
3. (3) [Option ID = 1943]
4. (4) [Option ID = 1944]

Correct Answer :-
e (1) [Option ID = 1941]

When was the first Official Language Commission constituted?
(1) 5 June, 1955

(2) 6 June, 1955

(3) 8 June, 1955

(4) None of the above

TIH TSTSATST 3TI13T T 76 e [ehdT 31T UT?
(1) 5 5[, 1955

(2) 6 5T, 1955

(3) 8 [T, 1955

(4) IS H  PIS 7T

[Question ID = 487][Question Description = Q52_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1945]
2. (2) [Option ID = 1946]
3. (3) [Option ID = 1947]



4. (4) [Option ID = 1948]

Correct Answer :-
® (4) [Option ID = 1948]

Who was the First Chairman of the Official Language Commission?
(1) B.G. Kher

(2) Jawaharlal Nehru

(3) Sardar Vallabhbhai Patel

(4) None of the above

TITHTST 3T &F TUH FeTeT hia T 2
(1) SrarET

(2) SATETATS HE®
(3) TIER goolelsls Ied
(4) 3TNFT H T HIS @1

[Question ID = 488][Question Description = Q53_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1949]
2. (2) [Option ID = 1950]
3. (3) [Option ID = 1951]
4. (4) [Option ID = 1952]

Correct Answer :-
e (1) [Option ID = 1949]



54)

Which of the following language is not included in the Eighth Schedule of
the Constitution, while it is the official language of a state?

(1) English

(2) Sindhi

(3) Urdu

(4) Sanskrit

o= 7 @ Tonw aamem =R W= i ATl srggEr A anfAe A AT g
STk a9 Ueh oy ol AT AT § ?

(1) 3=T

(2) faeir

(3) 35,

(4) FFp

[Question ID = 489][Question Description = Q54_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1953]
2. (2) [Option ID = 1954]
3. (3) [Option ID = 1955]
4. (4) [Option ID = 1956]

Correct Answer :-
e (1) [Option ID = 1953]

How much amount is given as the first prize to railway employees under
the Premchand Award scheme?

(1) ¥ 20000

(2) ¥ 10000

(3) ¥ 18000

(3) None of the above

UeTEE QUERR AI<A=TT & AT Yol HAATET T T2H [EHN & T H

EGRGIEUER MGE IR G
(1) T 20000
(2) 10000
(3) T 18000

(3) 3Ued H T Fis A8

[Question ID = 490][Question Description = Q55_AWM_PB_NAIRJUNE23]
1. (1) [Option ID = 1957]



2. (2) [Option ID = 1958]
3. (3) [Option ID = 1959]
4. (4) [Option ID = 1960]

Correct Answer :-
e (1) [Option ID = 1957]

Topic:- AWM_PC_NAIRJUNE23

1)

As per 7" Pay Commission, what is the pay scale level of Group “A”
Junior Scale Officers?

(1) Level-9
(2) Level-10
(3) Level-7
(4) Level-8

74 9= 3TENT & HFJEN, U T (A4 Ehol ATUHIE] &1 ddTA oaol
FATE:

(1) oIdeI-9

(2) dgeI-10

(3) Ig-7

(4) oIgel-8

[Question ID = 491][Question Description = Q01_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 1961]
2. (2) [Option ID = 1962]
3. (3) [Option ID = 1963]
4. (4) [Option ID = 1964]

Correct Answer :-
e (2) [Option ID = 1962]



2)

What is the maximum Leave at average Pay can be approved normally
for one time / in one spell?

(1) 180 days

(2) 90 days

(3) 60 days

(4) None of the above

I I I HARAA Teh TR/TH IR H WAI: ohcf=il Teel Fispd
ST HHATE?

(1) 180 &=

(2) 90 &=

(3) 60 fe=

(4) 3UFT H Y FIS 4T

[Question ID = 492][Question Description = Q02_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 1965]
2. (2) [Option ID = 1966]
3. (3) [Option ID = 1967]
4. (4) [Option ID = 1968]

Correct Answer :-

& (1) [Option ID = 1965]

What period in police custody is sufficient to put an employee under
deemed suspension?

(1) Period exceeding 48 hours

(2) Period exceeding 24 hours

(3) Period exceeding 72 hours

(4) Period exceeding 36 hours

farelt wrendy 1 312 e & aad W@ & forw gfaw fewea # feeeh
I gETTa ¥ 2

(1) 48 T& § 377ereh &1 3aTe

(2) 24 T T 3778 &1 3@

(3) 72 ©¢ ¥ 3Te0eR &r 3@y

(4) 36 ©¢ ¥ 37Tereh &hr 3@y

[Question ID = 493][Question Description = Q03_AWM_PC_NAIRJUNE23]



(1) [Option ID = 1969]
(2) [Option ID = 1970]
(3) [Option ID = 1971]
(4) [Option ID = 1972]

A W N -

Correct Answer :-
e (1) [Option ID = 1969]

What is the % subsistence allowance that can be increased if
suspension period is increased due to administrative reasons?
(1) 25%
(2) 35 %
(3) 50 %
(4) 60%

gfe Feas 3afe werafae FRoi ¥ ge1 & af fha=r % HaE s sermr ar

HhdT g ?

(1) 25%
(2) 35%
(3) 50%
(4) 60%

[Question ID = 494][Question Description = Q04_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 1973]
2. (2) [Option ID = 1974]
3. (3) [Option ID = 1975]
4. (4) [Option ID = 1976]

Correct Answer :-
® (3) [Option ID = 1975]



5)

MACPS (Modified Assured Career Progression Scheme) was introduced
by which pay commission?

(1) 4th Pay Commission

(2) 6th Pay Commission

(3) 5th Pay Commission

(4) 7th Pay Commission

THTH N TE (AESIHEE 3RgE SRET wEEa &) R a9 s
CaRT & feam I ar?

(1) Tt aF= 3T

(2) TS dd=T AT

(3) 9Tad ad=T TIET

(4) BT I 3TIET

[Question ID = 495][Question Description = Q05_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 1977]
2. (2) [Option ID = 1978]
3. (3) [Option ID = 1979]
4. (4) [Option ID = 1980]

Correct Answer :-
® (2) [Option ID = 1978]

How much transport allowance paid to blind railway employees?
(1) Double the normal rates of Transport allowance.
(2) Triple the normal rates of Transport allowance.
(3) Four times the normal rates of Transport allowance.
(4) None of the above

T feeafiT W oAy #f forgar uRaess s fear smar g 2
(1) aR@g=T o7y 1 HIHAET 3 T AR |

(2) 9ftag=T o3y T WA g &7 3T |

(3) UiEE=T o T HIAZ & &1 T I[AT|

(4) 3UUFT H U HIT AT

[Question ID = 496][Question Description = Q06_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 1981]
2. (2) [Option ID = 1982]
3. (3) [Option ID = 1983]
4. (4) [Option ID = 1984]



Correct Answer :-
e (1) [Option ID = 1981]

After how many years, commuted portion of pension is restored?
(1) 15 years
(2) 10 years
(3) 20 years
(4) 30 years

foraeT 9ut & 91, GereT T HIFHCS (Commuted) ATIT ST fohar FTar &7
(1) 15 |
(2) 10 a9
(3) 20 a9
(4) 30 a¥

[Question ID = 497][Question Description = Q07_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 1985]
2. (2) [Option ID = 1986]
3. (3) [Option ID = 1987]
4. (4) [Option ID = 1988]

Correct Answer :-
e (1) [Option ID = 1985]

Who is the supreme disciplinary authority of India?
(1) President of India
(2) Chief Minister
(3) Prime Minister of India
(4) Chief Justice of India

HI T Ha Tl SRITHTcH HITEhIuT il &2
(1) 9T & TSI

(2) FET#Ar

(3) ST & TUT=T F7AT

(4) IR & FEI =araredter

[Question ID = 498][Question Description = Q08_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 1989]
2. (2) [Option ID = 1990]



3. (3) [Option ID = 1991]
4. (4) [Option ID = 1992]

Correct Answer :-
e (1) [Option ID = 1989]

How much additional pension is given to 100-year-old pensioner?
(1) 100%
(2) 50%
(3) 80%
(4) None of the above

100 YT T2I=T #9191 &t Tora=T 3fafeaT 9= & S g7
(1) 100%
(2) 50%
(3) 80%

(4) 39 H U 1S Far

[Question ID = 499][Question Description = Q09_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 1993]
2. (2) [Option ID = 1994]
3. (3) [Option ID = 1995]
4. (4) [Option ID = 1996]

Correct Answer :-
e (1) [Option ID = 1993]

Working Officers of Indian Railways are entitled for how many sets of
PTO (Privilege Ticket Order) in a Calendar Year?

(1)6

(2) 4

(3) 10

(4) 3

SIS ToTd 3 SN TSR Uah tholst 9y & Ui (Mfders fefne

3HTSY) & fhas U & gFeR BT &7
(1) 6
(2) 4
(3) 10
4) 3

[Question ID = 500][Question Description = Q10_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 1997]
2. (2) [Option ID = 1998]



3. (3) [Option ID = 1999]
4. (4) [Option ID = 2000]

Correct Answer :-
® (2) [Option ID = 1998]

In which of the following type of train, attendant is allowed to travel
alongwith official travelling on privilege pass?

(1) Rajdhani

(2) Shatabdi

(3) Garib Rath

(4) None of the above

Fata@a # ¥ Fy R &7 & &, AR 919 9% I7ar e arel
HTUHIT & AT IREARE BT AT HT T AATS 872

(1) TS

(2) eraTedT

(3) 3T TF TFEUH

(4) 3T H ¥ HIZ AT

[Question ID = 501][Question Description = Q11_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2001]
2. (2) [Option ID = 2002]
3. (3) [Option ID = 2003]
4. (4) [Option ID = 2004]

Correct Answer :-
e (4) [Option ID = 2004]

What is the minimum days for which Child Care Leave can be granted?
(1) 10 days
(2) 20 days
(3) 30 days
(4) None of the above

A1Fe3 HIT G #geATH fehelel (Gl o [o1T FaTehel ohT ST Hebell 67
(1) 10 fe=
(2) 20 fea
(3) 30 fe=
(4) 3UUFT H T DIS A0



[Question ID = 502][Question Description = Q12_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2005]
2. (2) [Option ID = 2006]
3. (3) [Option ID = 2007]
4. (4) [Option ID = 2008]

Correct Answer :-
® (4) [Option ID = 2008]

Under which rule of RS(D&A) Rules,1968, suspension of a Railway
employee is dealt?

(1)5

(2) 6

(3)9

(4) 11

3Ry (37 U3 U) [FTH, 1068 F 5y FTH & 98 vF Tod FHAE H1

Aoea Ruear a2
(1)5
(2)6
(3)9
(4) 11

[Question ID = 503][Question Description = Q13_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2009]
2. (2) [Option ID = 2010]
3. (3) [Option ID = 2011]
4. (4) [Option ID = 2012]

Correct Answer :-
e (1) [Option ID = 2009]

What is the time limit in days for submission of appeal against a penalty
under Railway Servants (D&A) Rules?

(1) 30

(2) 45

(3) 60

(4) 72

o das (31 U3 1) ATaAt & Jgd &3 & [@arw srdier s e & fore feat

H gAg O FaT E?
(1) 30
(2) 45
(3) 60
(4) 72



[Question ID = 504][Question Description = Q14_AWM_PC_NAIRJUNE23]
. (1) [Option ID = 2013]
. (2) [Option ID = 2014]
. (3) [Option ID = 2015]
. (4) [Option ID = 2016]

A WN -

Correct Answer :-
® (2) [Option ID = 2014]

In which year Railway Board is constituted at apex level administrative
unit of railways?

(1) 1901

(2) 1905

(3) 1889

(4) 1904

o Fr oY T8 WenETEsE SHs F §9 & o9 a1 F7 767 57 av
T ?

(1) 1901

(2) 1905

(3) 1889

(4) 1904

[Question ID = 505][Question Description = Q15_AWM_PC_NAIRJUNE23]
. (1) [Option ID = 2017]
. (2) [Option ID = 2018]
. (3) [Option ID = 2019]
. (4) [Option ID = 2020]

A W N -

Correct Answer :-
® (2) [Option ID = 2018]



16)

Who is the chairman for PNM (Permanent Negotiating Machinery) at
zonal railway level?

(1) GM

(2) PCPO

(3) AGM

(4) None of the above

FieTer {od TR 9T WY U UH (TATY ardar 3F) & HETeT i giar 872
(1) Sfreer

(2) drEdrHT

(3) TSTTH

(4) 3Uded H U IS 8T

[Question ID = 506][Question Description = Q16_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2021]
2. (2) [Option ID = 2022]
3. (3) [Option ID = 2023]
4. (4) [Option ID = 2024]

Correct Answer :-
e (1) [Option ID = 2021]

In Railways what is the maximum amount of DCRG (Death cum
Retirement Gratuity) payable as per VIl CPC?

(1) ¥ 20,00,000

(2) ¥ 40,00,000

(3) ¥10,00,000

(4) None of the above

Told # VII CPC & 38N &F DCRG (g W Hari=igid Ieger) Hr

3TeeRaA T ha=r &2
(1)  20,00,000
(2) % 40,00,000
(3) 2 10,00,000

(4) 394Fd H W IS 6T

[Question ID = 507][Question Description = Q17_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2025]
2. (2) [Option ID = 2026]
3. (3) [Option ID = 2027]
4. (4) [Option ID = 2028]

Correct Answer :-
e (1) [Option ID = 2025]



18)

How many days of LHAP can be accumulated to an employee in his
service life?

(1) 300 days

(2) 450 days

(3) Unlimited

(4) None of the above

ol sy & FaT Sigs 3 feae feat & e LHAP afRia fovar s gepar
87

(1) 300 f&=1

(2) 450 &1

(3) 3rd@fAT

(4) 3ULeFd H T IS 76T

[Question ID = 508][Question Description = Q18_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2029]
2. (2) [Option ID = 2030]
3. (3) [Option ID = 2031]
4. (4) [Option ID = 2032]

Correct Answer :-
e (3) [Option ID = 2031]

After Budget Merger, under which demand number all the Railway
Demands are proposed in General Budget?

(1) 81

(2) 82

(3) 83

(4) None of the above

Fofc Aol & 915 371H S<ic H Yoid ST Fail AT [l AT G631 & dad

UEATTad &l SATaT 872
(1) 81
(2) 82
(3) 83

(4) 39S H U HIS T&T

[Question ID = 509][Question Description = Q19_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2033]
2. (2) [Option ID = 2034]
3. (3) [Option ID = 2035]



4. (4) [Option ID = 2036]

Correct Answer :-
® (4) [Option ID = 2036]

Who have the direct control over the affairs of all the Workshops
including its Budgetary control in a Zonal Railway?

(1) Chief Planning Engineer (CPE)

(2) Chief Rolling Stock Engineer (CRSE)

(3) Chief Motive Power Engineer (CMPE)

(4) Chief Workshop Engineer (CWE)

STt Toid J it FRUETT31T & ATHAT U 3USh goic1d 9407 Giga drer
=0T fSFas Ty g §7

(1) dIh cafaeT SSAIT (W)

(2) I UfoieT Tl =] (HRTys)

(3) T Aifed 9rEy s (HITAdTS)

(4) I FERRAT ST (HZeeq3)

[Question ID = 510][Question Description = Q20_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2037]
2. (2) [Option ID = 2038]
3. (3) [Option ID = 2039]
4. (4) [Option ID = 2040]

Correct Answer :-
® (4) [Option ID = 2040]

By which level officers, Non stock indents above Rs 45 lakhs have to be
approved?

(1) PHOD/CHOD

(2) SAG

(3) GM

(4) None of the above

45 9 T4 ¥ 3T & IR Tl AT hE T & AfHREr cann
FTHATTE forT e arfge?

(1) 9T T 3T ST T AT ST

(2)TE TS

(3)ShrowHw

(4) 3UYFT H U IS LT



[Question ID = 511][Question Description = Q21_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2041]
2. (2) [Option ID = 2042]
3. (3) [Option ID = 2043]
4. (4) [Option ID = 2044]

Correct Answer :-
e (1) [Option ID = 2041]

What is the financial limit of Junior Administrative grade officer in case of
works matter under quotation?

(1) ¥ 5 lakh per case

(2) X 8 lakh per case

(3) ¥ 2 lakh per case

(4) Full power

HICAA &F ded T F ATFS H Hiave mnafa® I3 JAfsr Fr @i
HATFTE

(1) T 5 AME Wid ATHAT

(2) T 8 W@ YT ATHAT

(3) T 2 &G i ATHAT

(4) quT ufeFa

[Question ID = 512][Question Description = Q22_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2045]
2. (2) [Option ID = 2046]
3. (3) [Option ID = 2047]
4. (4) [Option ID = 2048]

Correct Answer :-
e (1) [Option ID = 2045]



In works tenders, what is to be done to the offer if it is received without
EMD (Earnest Money Deposit)?

(1) Summarily rejected

(2) EMD can be called for later

(3) EMD can be deducted from bills

(4) None of the above

gFY &S0 H, 3 97 SUASY (3refre A1 f3uitaie) & 3ifwe Rear g ar
HTTHT T FIT AT 12

(1) TXEY A W @i

(2) SUHST 91 & AR ST HHhal &

(3) Bt T STAS Frwct N FrarFEary

(4) FULFT H U P

[Question ID = 513][Question Description = Q23_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2049]
2. (2) [Option ID = 2050]
3. (3) [Option ID = 2051]
4. (4) [Option ID = 2052]

Correct Answer :-
e (1) [Option ID = 2049]

Who draws the objection, which deals with shortage/excess of stock?
(1) Stock Verifier
(2) Auditor
(3) Accounts Officer
(4) None of these

Tt T sl afiear & Gafie amafe &1 R garT SR fFm Srar &7
(1) Tl RGBT

(2) or@r g{aTH

(3) oIET 3FTeNT

(4) 3T U I ET

[Question ID = 514][Question Description = Q24_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2053]
2. (2) [Option ID = 2054]
3. (3) [Option ID = 2055]
4. (4) [Option ID = 2056]



Correct Answer :-
e (1) [Option ID = 2053]

What is the amount of reimbursement of Children Education Allowance
presently per month for one child for Railway Employees?

(1) % 2,500/-

(2) % 3,250/-

(3) ¥ 2,750/-

(4) None of these

Yo FITH! & (oIT 3MTeTehel aoal el 11&T 7T 1 wfagfa @ Ul v a=v
& fore ufa ag g g2

(1) 2,500 / - 9

(2) 3,250 / - TG

(3) 2,750 / - ¥4I

(4) 3TH U HIS 7L

[Question ID = 515][Question Description = Q25_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2057]
2. (2) [Option ID = 2058]
3. (3) [Option ID = 2059]
4. (4) [Option ID = 2060]

Correct Answer :-
® (4) [Option ID = 2060]



26)

For approval of AAC (Average Annual Consumption) of A, Band C
category items, vetting of Head Quarter finance department is required
for which category?

(1) A Category only

(2) B category only

(3) A & B category

(4) A, B and C category

T, & 31T Aoft i F7El & v (3aa it @ua) & sAe & foe
Terae FEaTor & o e 1 ge{ieTor 1 Jraegehdr §7

(1) Shael T SOfr

(2) el a1 AfY

(3) @ 3T & Aofr

(4) T, &t AT 91 Sofr

[Question ID = 516][Question Description = Q26_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2061]
2. (2) [Option ID = 2062]
3. (3) [Option ID = 2063]
4. (4) [Option ID = 2064]

Correct Answer :-

e (1) [Option ID = 2061]

What is the full form of IPAS in Indian Railways?

(1) Interconnected Payment and Access System
(2) Interconnected Payroll and Accounting system
(3) Integrated Payroll and Accounting System

(4) Integrated Payment and Accounting Sysiem

HAT Yerd #H IPAS &7 q0T &9 &7 §7?
(1) SeTHAFes UHe Us vy fATeH

(2) Selw-FeE Wil U Hasfear s
(3) SIS YTl US HF3ie WA

(4) SEICS YHT US HhI3TeqT AeeH

[Question ID = 517][Question Description = Q27_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2065]



2. (2) [Option ID = 2066]
3. (3) [Option ID = 2067]
4. (4) [Option ID = 2068]

Correct Answer :-
® (3) [Option ID = 2067]

For sanction of encashment of leave, a balance of at least how many
days of leave on Average Pay should be available to the credit in leave
account of employee after taking into account the period of encashment
as well as the leave availed of?

(1) 10

(2) 40

(3) 30

(4) None of the above

LT & Al 0T hT AT o ToIT, Fhar FHT0T T 37afer & Frr-arr
3T T T TEET H A F T §U, FHAN! & P& T H FA § FHA

foraret &t &1 3 30T gedt #1 9 3udey g A
(1) 10
(2) 40
(3) 30

(4) 39LFT & H HIS G

[Question ID = 518][Question Description = Q28_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2069]
2. (2) [Option ID = 2070]
3. (3) [Option ID = 2071]
4. (4) [Option ID = 2072]

Correct Answer :-
® (3) [Option ID = 2071]



29)

Wages of workers in the railway workshop are primarily booked under
which account?

(1) Workshop Manufacture Suspense account
(2) Revenue account

(3) Stores account

(4) None of these

Ted geheiTd # HIAIRI HT a9 HET ¥ 8 h8 373¢ A g har Srar g
(1) THATT Hegthara a1 eI HePrse

(2) TTET 3THIBT

(3) T HHI3C

(4) 3T @ FI3 &

[Question ID = 519][Question Description = Q29_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2073]
2. (2) [Option ID = 2074]
3. (3) [Option ID = 2075]
4. (4) [Option ID = 2076]

Correct Answer :-
e (1) [Option ID = 2073]

What is the term used for, time elapsed from the date of realization of
need of recoupment to the physical receipt of materials?

(1)  Buffer time

(2) Interim period

(3) Leadtime

(4) None of the above

Tt S HTaeTHAT T T I A & T #r sifaw wea a6
AT GHT & 4T FET AT 8?2

(1) a A

(2) 3rdfe 3afe

(3) N TH

(4) 3uded # A HIZ A8

[Question ID = 520][Question Description = Q30_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2077]



2. (2) [Option ID = 2078]
3. (3) [Option ID = 2079]
4. (4) [Option ID = 2080]

Correct Answer :-
® (3) [Option ID = 2079]

What is the percentage of Travelling allowance applicable beyond 6
hours and upto 12 hours if the railway employee is sent on duty 80 km
away from his posting place?

(1) 40%

(2) 50%

(3) 60%

(4) 70%

I Yol AT SFE O 379 QIR & <178 W 80 fanet gy s sar § &

6 Te I 31T 31T 12 9 I T30 397 1 Ui fa=m glarg?
(1) 40%
(2) 50%
(3) 60%
(4) 70%

[Question ID = 521][Question Description = Q31_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2081]
2. (2) [Option ID = 2082]
3. (3) [Option ID = 2083]
4. (4) [Option ID = 2084]

Correct Answer :-
® (4) [Option ID = 2084]



32)

Which estimate is prepared when it is certain that the work can not be
completed within sanctioned cost?

(1) Supplementary estimate

(2) Revised estimate

(3) Detailed estimate

(4) None of the above

hiT-H1 TiEeAe a9 SR f&ar =rar § o1 97 [Aieaa 8t o w&igd aera &
3T &1 O LT 3T T TehaT 87

(1) GUTHEY UiEeHT

(2) Rarsss viteae

(3) 3o viteae

(4) 3T A W HIg AT

[Question ID = 522][Question Description = Q32_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2085]
2. (2) [Option ID = 2086]
3. (3) [Option ID = 2087]
4. (4) [Option ID = 2088]

Correct Answer :-
e (2) [Option ID = 2086]

In a railway store depot, which item is declared as Surplus items?
(1) ltem not issued for 12 months
(2) ltem not issued for 24 months
(3) Iltem having more than 24-month stock
(4) None of the above

Tea TeR 30T # fopw aeg &1 31Ty avg & §9 & S fomar smar &2
(1) 3TSEH St 12 AT 8 ST 6T g3

(2) HTSEH ST 24 AL U SR =@l §37

(3) 24 FE § 30 FTeh dToll 9%

(4) SUYerd H | IS e

[Question ID = 523][Question Description = Q33_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2089]
2. (2) [Option ID = 2090]
3. (3) [Option ID = 2091]



4. (4) [Option ID = 2092]

Correct Answer :-
e (2) [Option ID = 2090]

Outstanding quantities against all live purchase orders are termed as
what?

(1) Covered dues

(2) Uncovered dues

(3) In process dues

(4) Live dues

Toft ozT @G et 3 TATCE ThTaT AT I FT Fgl AT 87
(1) %as @

(2) 37as 3TH

(3) 3T 9HE 3qH

(4) ega 3TH

[Question ID = 524][Question Description = Q34_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2093]
2. (2) [Option ID = 2094]
3. (3) [Option ID = 2095]
4. (4) [Option ID = 2096]

Correct Answer :-

& (1) [Option ID = 2093]

Workshop Manufacturing Suspense falls under which minor Head of
Account?

(1) Capital Suspense PH 7200

(2) Capital Suspense PH 7100

(3) Capital Suspense PH 7300

(4) None of the above

FeRelTT Aeghera el HETH (ol AT §3 3T HHI3C & Had a1 672
(1) e TEIT PH 7200

(2) e FEIH PH 7100

(3) s TEIH PH 7300

(4) 3UNFT H T IS AT



[Question ID = 525][Question Description = Q35_AWM_PC_NAIRJUNE23]
1. (1) [Option ID = 2097]
2. (2) [Option ID = 2098]
3. (3) [Option ID = 2099]
4. (4) [Option ID = 2100]

Correct Answer :-
e (1) [Option ID = 2097]





